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' PREFACE

This volume is a continuation of the first volume of GRADED GO
PROBLEMS FOR BEGINNERS and 1s aimed at the 20-kyu to 25-kyu
-plaver,

The problems presented here will require a bit of thought, but none
of them is so difficult that a player who understands the rules and has
studied’ the first volume wouldn’t be able to solve them in less than
a minute, :

Since the main aim of this series is to present as many exampies of
go technique as possible, I have avoided giving a ot of different vari-
ations of possibie answers. The reader is advised to attempt to ‘refute’
the correct answer until he knows beyond doubt that the correct ans-
wer works. By pondering each pi‘oblem in this way, the reader will
develop -an instinct for finding the winning move in his games.

September, 1985 Kano Yoshinori 9-dan
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'GLOSSARY

atari — check, 1.e. a move threatening to capture on the next move.
dame — neutral points which profit neither Black nor White,

~dan — a rank given to piayers to indicate their strength at the game.

When a player’s strength improves after attaining the rank of l-kyu,
he is promoted to amateur i-dan and as he becomes stronger, the
numerical vaiue of his dan increases. The top amateuf dan rank 15
usually 6-dan, The professional dan ranks start at i-dan and O up
to 9-dan, which is the highest rank attainable. A professional i-dan
1s usually about two stones stronger than an amateur 6-dan. See kyu.
double gtart — giving atari to two different groups of stones.at the
same time. - ’ _ __
eve — a point on the board which is surrounded by stones of the
same color. N . : o
ko — a shape in which your stone is captured but it is illegal to retake
the capturing stones even though you can occupy all of its liberties,
kyu — a rank given to piayers to indicate their strength at the game.
Beginners are arbitrarily ciassified at 30-kyu and as they become’

~ stronger, the numerical value of their kyu decreases. For exarnple, .

15-kyu 1s stronger than 20-kyu. See dan.

’

nakade — a large eye-space which, by skillful play, can be reduced to a - -

sihgle eye, ‘
olotoshi — a move which gives atari to a group of stones in such g way
that no matter how one defends, the group will still be in atari,
oshitsubushi - a shape in which you give atarn to two or more of your

opponent’s stones in such a way that he cannot defend against this

" .atari without committing suijcide.

seki — an impasse or staiemate between groups: if one side tifie.é‘y,_'to- :

attack the other side’s group, his own group is put into dtan and-
dies, Therefore, neither side can attack or attempt to atari. '

it is taken, the capturing stones are in turn captured,

v b e

-$napback — a tactic i which one stone 15 offered as a sacrifice and. jf
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SECTION 1. HOW TO CAPTURE STONES

TS

OGO
OSSO

€

BT %000,

. PROBLEM i, Black to play.

How does Black play?

PROBLEM 3. Black to play.
How does Black play?

PROBLEM 2. Black to play.
How does Black play? j_

PROBLEM 4. Blackito play.
How does Black play so as to
capture four white stones?

I



PROBLEM 5. Black to play.
How does Black play so as to
capture nine white stones?
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: PROBLEM 7. Black to play.
How does Black play so as to
capture three white stones?
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PROBLEM 6. Black to play.
How does Black play so as to
capture eight wiite stones?
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- PROBLEM 8. Black to play,
How does Black piay so as to
capture four white stones?
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PROBLEM 9, Black to play.

How does Black play so as to
connect ‘his sfones on the left
and the right? '

[RS8 LD N T Ry S

PROBLEM 10, Black to play.
How does Black play?
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PROBLEM 11. Black to play.
How does Black play?

OO y
“@Q@@ @QQ‘“
oL
PROBLEM 12. Black to play.
How does Black play so

that his stones on the edge will
not be captured?
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PROBLEM 13. Black to play. - PROBLEM 14. Black to play.
How does Black play 50 as to How does Black play so as to
capture five white stoneg? . capture four white stones?

]

PROBLEM 15 Black to play, - PROBLEM 16, Black to play.
How does Black play so as to How does Black play so as to
- create-an oshitsubushi shape with capture four white stones by
the two white stonesin the corner? creating an oshitsubushi shape?

oshitsubushi — a shape in which you give atari to two or more of

yYour opponent’s stones in such a way that he cannot defend against this
atarrwithout committing suicide. ‘
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PROBLEM 17, Black to play. PROBLEM 18. White to play.

How does Black piay after How does White play so as to
White 17 ' lnk up all of lus stones?
O
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PROBLEM 19. Black to play. PROBLEM 20. Black to play.
How does Black play so as to How doesr Biaqck play in re-
separate the four white stones on sponse to White 17

the edge from those leading out
into the center?
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SECTION 3, DEFENDING YOUR POSITIONS
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PROBLEM 21. White to play, PROBLEM 22. Black to play. N T \}f 1
" How: does White give atan to If Black makes a “bamboo ' _ . /
the lone black stone? joint”, all of Ilus stones will be _ PROBLEM 25. Black to play. PROBLEM 2%}81?3’{ f: p?t:tu
connected, ' How does Black play after . How does Black play
W-hlte 1‘] . Wh]te 19
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PROBLEM 23, Black to play. PROBLEM 24. Black to play. B . e ART e ’
- How does Black play? How does Black play so ; PROBLEM 27. Black to play. I;}{zOBLfﬁgszﬁ.}IﬁiCkp%zypl?aar
. that his four stones on the edge L How does Black play after %'t?aw]" 0
will not be captured? White 17 e 1:
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PROBLEM 30. Black to play,
“How does Black play after Black has amove that may help
White creates'a ko situation with- ~ him rescue his six stones in the

17 _corner.

PROBLEM 29, Black to play,

SECTION 5. CAPTURING RACES

© PR OBLEM 32. Black to Diay

How does Black play so as to
catch the six whlte stones on the
edge?

PROBLEM 31. Black to play. -
.. To which group of white stones
should Black give atari?
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kill the white stones?

PROBLEM 33. White to play.
How does White play so as to

capture the black stones on the
left?

PROBLEM 34. Wiite to play.
How does White piay $0 as to
capture four black stones?

SECTION 6. LIVING GROUPS AND DEAD GROUPS |

PROBLEM 35. Black to play.

PROBLEM 36. Black to piay
How does Black play so as to

How does Black play $0 as to
klll the white stones?

- 11 =
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PROBLEM 37, Black to play.
V‘Hc)w does Black play so as te
ve hus stones life? '
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PROBLEM 39. Whire to.play.
How does White play so as to "

ive his stones life? : ‘;:
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PROBLEM 38. Black to pluy.

- How does Black play so as to
give hus stones life?’

PROBLEM 40, White to play.
-§How does White play so as to
gjgv«s his stones life?
"
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PROBLEM 41. Black to play.

How does Black play so as to
kill the white stones?

€600

@

eee

o
&0

‘
R
I

PROBLEM 43. Black to play,
How does Black play so as to

%ill the white stones?

PROBLEM 42. Black to play.
How does Black play so as fo
kill the white stones?
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PROBLEM 44. Black to' play.. -

How doés Black play so as to
kill the white stones? o
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PROBLEM 45, Black to play.
How does Black play - s0

‘that his stones will live in seki?

PROBLEM 47. Alive or dead?
Are the white stones alive in
seki or are they dead?

PROBLEM 46, Black to play.
‘How does Black play so

- his stones will live?

PROBLEM 48, Alive or dead? .

Are the white stones alive in
seki or are they dead?
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SECTION 7: HOW TO PLAY IN THE OPENING
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PR OBLEM 49. White to play.
How should White respond to Black 17?
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PROBLEM 50. White to play. - : _
What 15 the best way to strengthen the white stone?
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- . PROBLEM 52. Black to play. '
' i How should Black play m response to White 1?7
PROBLEM 1. Black to play. ' (There 1s more than one correct answer.)
‘How far should Black extend from his position on the ru,ht" : .
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PROBLEM 53. Black to Play,
How should Black respond to White 17
(There is more than one correct answer,)

—-i8—

PROBLEM 54, Black to play.
How should Black play in response to White 1?7
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SECTION 8. THE END OF THE GAME

PROBLEM 55. Black to play.
How should Black play in response to White’s
invasion in the corner?

PROBLEM 57.
Where are White’s weak points?
Where are Black's weak points?

PROBLEM 56. Black to play.
How should Black play mn response to White’s
attachement 1n the corner?

-20 - -1 -



II ELEMENTARY PROBLEMS

LEVEL TWO
Section 1. How toPlayintheOpening .........coovvunn.n.. .24
Section 2. How to Capture Stones and Related Problems ........ 28
Section 3, Defending Your Positions . .o oo e e e 0. 34
Sectiond4. LifeandDeath ........ ..ot neinnnnnenn. 42
Section 5, Ko ittt i ittt e it 46
Section 6, Capturing Races ... ..ttt et e e ies e 49
Section 7, Endgame . ...... .ttt timoneneeeeasivenen. 52

PROBLEM 58. Black to play.

In response to Black’s taking a ko with |, White has played 2. How
should Black reply?

— 22—
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. SECTION 1. HOW TO PLAY IN THE OPENING
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PROBLEM 59. White to play. PROBLEM 61. Black fo p I
Which of the four points from A to D should White play? White plays a capping move over a black stone with 1. How shouwld

(There is more than one correct answer.)

Black respond?

|
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i ’ PROBLEM 62. Black fo play. |

L@ PROBLEM 60. White to play. White invades the corner with 1. How should Black block? From the
v Which of the four points from A to D should White piay? left or from above?
[ (There 1s more than one correct answer.)
y
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PROBLEM 63. Black to play. @
Where should Black piay?
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PROBLEM 64. Black to play. o _ PROBLEM 65. White to play. y
Where should Black piay? At wiiich point should White make a corner enclosure, A or B?

— 26— -7 =~




SECTION 2, HOW TO CAPTURE STONES
AND RELATED PROBLEMS
GQOO+& L | 51 0000
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l L . | PROBLEM 70. Black to play. PROBLEM 71. Black to play.
| ] How can Black capture six How can Black capture three
, : white stones? white stones? .
PROBLEM 66. Black to play, PROBLEM 67, White to play. 4
I_-Iow can Black capture two The six white stones at the top 3
white stones? are in danger. How can White
rescue them? -
B “CJ '
gy () '
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i PROBLEM 72. Black to play. PROBLEM 73. Black to play.
_ ; How can Black capture two How can Black capture four
PROBLEM 68, Black to play, PROBLEM 69. Black to blay, white stones? white stones?
How can Black capture three . How should Black piay? B
white stones?
~28 — ‘ ' L 29 —

Ak 1 i s s e



OO

_ ™ -
O

{
i

¢

PROBLEM 74. Black to piay.
How can Black link up his
stones above to the ones below?

PROBLEM 76, Black fo play.
How can Black capture the
five white stones in the comer?
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PROBLEM 75. White to play.
How can White link up his

stones above {o the ones below?

PROBLEM 77 Black to play,
How can Black link up his

stones below to the ones above?
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PROBLEM 79. Black to play,

How can Black cipturc four
white stones?

PROBLEM 78, Rlack to play,

How can Black capture four
white stones?
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PROBLEM 81. White to play.
How should White play so as
to utilize his marked, stone?
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PROBLEM 80, Black to Dlay,
How should Black play?-
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PROBLEM 82 Black to play.
- How can Black link up his
“stones above to the ones below?

PROBLEM 84. Black to play,

How can Black link up his
stones on the left to the ones
‘on the right?

PROBLEM 83. Black to play,
How can Black link up all of
his stones?
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PROBLEM 85. Black to play,

Can Black separate some of
the white stones near the edge
from the ones in the center?

—32 -
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PROBLEM 87. Black to play.
How can Black capture 81X

white stones?

PROBLEM 86. Black to play.
" How can Black capture three

white stones?
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PROBLEM 89. Black to play.

How can Black capture two
white stones?

-PROBLEM 88. Black to play.
How can Black capture four

white stones?

— 33
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SECTION 3, DEFENDING YOUR POSITIONS :
N PROBLEM 93, Black to play.
PROBLEM 90. Black o play. _ How does Black play so as to rescue his four stones in the center?
Where is the point that will give Black’s stones in the comer a secure :
shape?

PROBLEM 91, Black 1o play.
Where 15 the point that will give Black’s stones in the corner a secure
shape?
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PROBLEM 94. Black to play.
PROBLEM 92. Black to play. How should Black play?
Where is the point for Black to attack the four whité stones?
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PROBLEM 97 Black to play.
How should Black play? Also, if it were White’s turn, how would he

: play?
PROBLEM 95. Black to play,
How should Black piay?
1 *
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PROBLEM 96, Black to play, PROBLEM 98 White to play.
How should Black play? - How should White play?
~ 36~ | | | o ~ 37~
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PROBLEM 99. White to play.
How doces White respond to Black 17
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PROBLEM 100. Black to play. ;
What should Black do about his one jone stone on the left‘?
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PROBLEM 101. Black to play.
How does Black respond to the cut of White 1"
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PROBLEM 102, Black to play. :
Black can exploit a weakness in White’s position and gain some profit.
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PROBLEM 103. White to play.

The two black stones and three white stones on fi . .
‘ 1¢ outside
vuinerable. How should White play? are both

PROBLEM 105. Black to play. _ _
There is a fight taking place at the top of the board. How does Black
profit by sacrificing a stone? Indicate Black’s next two moves.
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‘ PROBLEM 104, Black to pl, '
How does Black link u ot

p his four stones on the lower jeft side to hi PROBLEM 106. Black to play.
_ } : ‘ ,
stone_above? : How does Black respond to White 17

vy
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PROBLEM 107,
Black piays White dies,
There is 5 way to make White's
eye below a false one and thereby
kill the white group.
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PROBLEM 109,
Black plays White dies,
Black’s first move decides the
fate of White’s group,

PROBLEM 108,
Black plays White dies.
Make sure you are able to dis-
tinguish between a false eye and
a real eye,
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PROBLEM 110
Black piays White dies.

By sacrificing a stone, Black
can make one of White's eyes
false and thereby kill the whoie
group.

—47 -
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FROBLEM 111
White plays Black dies,

This is the basic 5-point

nakade shape,

PROBLEM 112
Black plays White dies.
You can kill White by making ..
a 5-point nakade shape,
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PROBLEM 113
Black ptays White dies.
Black «can kill White
sacrificing five stones.

by

PROBLEM 114
Black plays and lives.
Black can live if he prevents
White from making.a S5-pomnt
nakade shape, '
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PROBLEM 115
Black plays White dies,
Because all the liberties on the
outside of the two white stones
" on the left and the right are filled
up, Black has a move to kill White.

PROBLEM 116

and live,

e

‘ Black plays and lives.
Black must play on tie correct
point if he is to make two eyes
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PROBLEM 117
Black plays and lives,
If Black can capture one white
stone, he will live,

PROBLEM 118
Black plays and lives,

- will give Black two eyes?

— 44

Where is the vital point that
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PROBLEM 119
Black plays and lives.
Without any doubt, Black has
one eye. How can lie make two
eyes?

PROBLEM 120
Black plays White dies.

If you attack White's wtal
point, he will die.
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PROBLEM 121
White plays and lives.
White’s first move will decide
whether or not White can make
two eyes.

_ 45 —

PROBLEM 122
Black ptays White dies,

If you can prevent Whit_e- frorn
expanding his territory, he will
not be able to make two eyes,




SECTION 5. KO
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PROBLEM 123. Black to play.
White 1 is a ko threat. How should Black respond?
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PROBLEM 124. White to play.

Black has cut with 1, How should White play so as to give his stones
the best chance to make life?
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PROBLEM 125. Black to play.

Positions like this occur at the end of the game. Of the two kos,
which one is the more profitable?
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PROBLEM 126,
. Black to play.
How should Black piay?

e

PROBLEM 127
Black to play,
How should Black piay?
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PROBLEM 128,
Black to play.
How can Black start a ko?

SECTION 6. CAPTURING RACES
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PROBLEM 130 : PROBLEM 131

Black to play and win,

Black to play and win, .
Capture four white stones.

Capture four white stones.

PROBLEM 129,
_Black to play.
How should Black play?

—48
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PROBLEM 132 PROBLEM 133
Black to play and win, Black to play and win,

Save the three black stones on Capture two white stones.
the edge.
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PROBLEM 134 PREE;EM 135

Black to play and win.

1If Black sacrifices one stone,

he can capture seven white ones.

White to vlay and win.
If While sacriiices three stones,
he can capture all the black stones
on the right,.
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PROBLEM 136
Black to play and win,
Capture four white stones.

PROBLEM 137
Black to play and win,
A four-point nakade 1s worth
five moves, s0 Black can win this
capturing race.

50 —

- he can capture six white ones,
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PROBLEM 138 PROBLEM j39"

Bluck to play and win.
“One eye beats no eyes,” If
you know this proverb, you
shouldn’t have any trouble cap-
turing five white stones,

Black to play and win.

. Black can capture three white
Stones immediately, but this is

ndt the problem. You wuni to

‘capture all exght white stonecs,
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PROBLEM 140
Black to play and win.
If Black sacrifices one stone,

PROBLEM 141
Black 1 play and 'win. -
The order of moves here is‘im-
portant if you want. to. 1
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: PROBLEMS 145 & 146. White to piay. | i
SECTION 7. ENDGAME How should White respond to the Black 1 in Problem 145 and the i ‘
i i t 1467 What is the diff between these twao
What s th PROBLEM 142. Black to play. r giz;%l;erlng Problem 146 at is the difference betw %
tory? Is 1he most profitable way for Black to invade White’s terri- ,:Ix
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White -1 ; ~ ~PROBLEM 143, Black to play. : ' 1. i% i g‘s *
listalliet?? I 15 a bad move. How does. Black take advantage of this
- ' , PROBLEMS 147 & 148. White to play.
' i ‘ k 1 in Problem 147 and the
R PROBLEM 144, Black to play. HQwAsl}ould White respond to the Black - ; /
How does Black play to reduce White’s ter?'ilt)of-i on the left? Black i in Problem i148? What is the difference between these two

problems?
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PROBLEM 149, Black to play.
lch 1s more profitable for Black, to play at A or to piay at 37
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PROBLEM 150. Black to piay,

Which is more profitable for Black, to play at A or to play at B?

— 54 —
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LEVEL THREE

Section 1. How to Play in the Opening ............ccovu... .. 56
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SECTION 1. HOW TO PLAY IN THE OPENING
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PROBLEM 152. Black to play.
@ _ 1. When White piays 1, how should Black defend the corner?
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PROB | - PROBLEM 153. Black to play.
Where Shgfﬁ él‘iikli)ﬁ;’f f{ %Iaé’r- o1 . How should Black defend his corner in this case?
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PROBLEM 154. White to play. PROBLEM 156, Black to play.
How should White play? How should Black respond to White 1?
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PROBLEM 135, Black to play.
How should Black piay in response to White 1?

A PROBLEM 157, Black to play.
In this 8-stone handicap game, how should Black play?
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SECTION 2. HOW TO CAPTURE STONES
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PROBLEM 158
Black to play,
How does Black save his four
endangered stones in the center?
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PROBLEM 160
Black to piay.

How should Black play in this -

- position?

PROBLEM 159
Black to play,
How does Black piay so as ‘to
capture three white stones?

PROBLEM 161
White to play.
How should White play in this
position? -
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PROBLEM 162
White to play.
How should White piay so as
to capture five biack stones?

PROBLEM 163
Black to play.
How does Black play so as to
capture four white stones?
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PROBLEM 164
Black to play.
How should Black play so as
to capture four white stones?

PROBLEM 1653
Black to piay.

How should Black play in this

position?
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' SECTION 3. CONNECTING AND SEPARATING STONES
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PROBLEM 166
Black to piay.

How does Black play so as
prevent White from linking up
fius group at the bottom to the
one at the top?
|

PROBLEM 167
Black to play,
How does Black play so as to
link up his group at the top right
to the stones on the left?
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PROBLEM 168
Black to play,
How should Black play in this
position?

PROBLEM 169
~ Black to play.
How does Black play so as
to cut off the white stones
below from the ones above?
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PROBLEM 170, Black to play.

Where should Black connect so as to isolate the seven white stones
in the center?
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PROBLEM 171, Black to play.

Where should Black play so as to break into White’s area at the
bottom?
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PROBLEM 172, Black to play,
How should Black piay?

PROBLEM 173. Black to play.
How does Black play so as to save four of his surrounded stones?
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PROBLEM 174, Black to play.
What s the most profitable way for Black to play?
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SECTION 4, DEFENDING YOUR POSITIONS

PROBLEM 175, Black to n!a}_}.
How should Black respond to White 17

176.
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PROBLEM 176, White to play.
. How should White respond to Black 17
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PROBLEM 177. Black to play.
Defending the corner on the right is not important, How should
Black play?
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PROBLEM 178, Black to play.
Black has to give his six stones on the outside good shape. Where
should he play?
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PROBLEM 179. White to play.
Where 1s the vital point to attack the four black stones on the left?
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PROBLEM 180. Black to play. - v
White has a defect in his position, Where is the vital point for break-
ing into White’s area? You can capture at least one white stone.
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PROBLEM 181. Black to play. ‘
How should Black respond to White 1?7
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PROBLEM 182, Black to play.
How should Black respond to White 1?
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PROBLEM 183. Black to play.

How sitould Black respond to White’s peep at 17
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PROBLEM 184. Black to play.
How should Black respond to White 17
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PROBLEM 185, White to play,
How should White respond to Black 1?
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PROBLEM 186, Black to play,
How should Black respond to White 1?7
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PROBLEM 187. White to play,
How should White play?
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PROBLEM 188. White to play.
How should White respond to Black 1?
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to two groups?

PROBLEM 191. Black to play,

How should Black play so as to separate White 1n

ould Black give atari to the white stone?

PROBLEM 189, Black to play.

How sh
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PROBLEM 190. White to play.
How should White respond to Black 17



¥ PROBLEM 193, Black to play. ‘ _ PROBLEM 195, White to piay.
; . Where is the invasion point in White’s position? White can give atari immediately and sacrifice one stone. But 1s this

[ the most effective way to sacrifice? How should White play?
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PROBLEM 194. White to play.

How should White respond to Black 1? ' PROBLEM 196, White to play.
A How should White play?
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SECTION 5. LIFE AND DEATH

PROBLEM 197. Can stones be captured?
The situation at the top is a seki, but Black can still capture some
white stones. How many stones can Black capture?

T 197.
&

198.

®
.@ggémw+ﬂ—
e, o) tleew |
el %o 1o, @]
- 1gh-tght gt Sigh

- PROBLEM 198. Seki or alive?
Is this position a seki? If not a seki, which side can capture the other
side’s stones?
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PROBLEM 199
. Black plays and lives.
How does Black piay so as o
live?

PROBLEM 200
Black plays and lives.
How does Black play soO a3 to
live?

PROBLEM 201 PROBLEM ,2{02
Black piays and gets a seki. Black plays and lives,
How does Black play so as 1o How does Black play so as to
get a seki? live?
—77 —




" ing the eye at the top faise.
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PROBLEM 203
Black plays White dies.
Kill the white group bY mak-

PROBLEM 204

Black plays and lives.
Give the black group life by
making an eye at the top.

el

PROBLEM 205
Black plays White dies.
By sacrificing @ stone, Black
can: kill the white group. '

PROBLEM 206
Black plays White dies.
By sacrificing a stone, Black
can kill the white group.

—78 —

PROBLEM 208
Black plays and lives.
A brilliant first move give the
black group life. -

Black plays White dies.
A brilliant first move kills the
white group.

PROBLEM 209
Blgck plays and lives.
Black’s first move 18 all-im-
portant. ‘ portant.

PROBLEM 210
Black plays White dies.
Black’s first move 18 allar
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PROBLEM 211
White pilays Black dies.
White’s first move is alldm-
portant,

PROBLEM 213
Black plays White dies.
You have to be carefui not to
tet White Jlive by sacrificing two
stones,

PROBLEM 2}2
Black plays White dies,
If you attack the vitai points
of White’s group tn the proper
order, White will die,
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PROBLEM 214
Black plays White dies.
By attacking the right point

with the first move, the fate of
the white group is decided,
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SECTION 6. KO

. Black plays and makes a ko.
How can Black make a2 ko?
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* PROBLEM 215 ) PROBLEM 216

Black piays and makes a ko.

How can Black make a ko?
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PROBLEM 217 PROBLEM 218.

. Black plays and makes a ko.
Decide . the life or death of the
white group with a ko.
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Black plays and makes a ko.

Black’s oniy chance to live 15 ™

to make a ko.
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SECTION 7, CAPTURING RACES
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PROBLEM 219
Black to play,
How can Black capture the

"+ nine white stones on the right?
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PROBLEM 220
Black to play.
How can Black capture the
four white stones at the top?
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PROBLEM 221
Black to piay.
A brilliant first move will cap-
ture  the white stones in the
corner,

PROBLEM 222
Black to play,
A brilliant first move will
capture the two white stones
in the comer,
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PROBLEM 223, Black to play.
“One eye beats no eye.” If you understand thus proverb, you will
immediately see how to capture the four white stones on the right.

i

PROBLEM 224, Black to play.
Capture five white stones in the top left corner.
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Foeearard

PROBLEM 225, White to play,
“A five-point nakade 1s worth eight liberties.” This knowledge will
help you find a way to capture the six black stones on the right.
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SECTION 8. ENDGAME

There is a defect ff %ﬁ‘:}fM 226, Black to play.

S YoN 1o veduce White's territory by capturing some stones. | i '.

226.

227.

‘ PROBLEM 227. Black to play.
There is a defect in White’s position. Playing at the right point will

allow you to reduce White’s terTitory by capturing some stones,

_ 84 —

- What are Black’s

" Sesmitory?

PROBLEM 228. Black to play.
most profitable endgame moves to reduce White’s

PROBLEM 229. White to play.
What are White’s most profitable endgame move

territory?

g to reduce Black’s

. 85 —
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I PROBLEM 230. Black to play.

Pl If you play correctly, you can make a big dent in White’s territory

| because the three white stones on the far right will be short of liberties. !

Where is the vital point?

! .
Vo IV ELEMENTARY PROBLEMS
Lo LEVEL FOUR
B LIFE AND DEATH PROBLEMS
%' .- Section 1. Making Life . «oovvevrarrenrmerrrerntn ittt 88
1ty .
o ‘ ‘. Gection 2, Killing GIOUPS . -« +vvvsssnsssesnsesmsrtsss s 100
b — Geetion 3. SEKL «ovvrnecnsremesres st Tt 112
! Section A, KO 4vvveennnn nensnssssssrsrssrr ettt it 114
%'»l Section 5. Capturing RACES ..o eeeenernersseses sttt 116
o
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231.

PROBLEM 231. Black to play.
" How should Black respond to White 17
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SECTION 1. MAKING LIFE  PROBLEM 235. Black to play and live, (1 move)

If Black takes the one white stone in the right way, he can secure

i PROBLEM 232, B!aqk to play and live, (7 move) life for his group, _ {‘5‘!
Flrstrofr all Black has to make one eye. After that his secong eye f i
cannot be blocked, FPROBLEM 236, Black to play and live. (1 move} ' i
If Black attacks the jone white stone 1n the right way, he can secure ’!,

PROBLEM 233. Black to ptay ang live. (1 move) life for his group., il

Two eyes can be mage with one move. ; i

o
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PROBLEM 237, Black to play and live. { 1 move)
PROBLEM 234, B!qck to p[ay.and live, ( 1 move) \ If Black gives atari to White in the right way, he can secure life; for his
Two eyes can be made with one move, $ Eroup, : '
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PROBLEM 238. Black to ptay and live. (1 move)
Black can secure life with his first move.,

PROBLEM 239, Black to play and live. (1 move)
Black can secure life with his first move,
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PROBLEM 240. Black to play and live. {1 move)
Where does Black play to make two eyes?
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238,

240,

- oLl

PROBLEM 241. White to play and live. (1 move)
White can make life in two ways. Which way is the more profitable?

PROBLEM 242, White to play and live, (1 move)
If you can make a real eye on the right, the white group can live.
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PROBLEM 243. White to play and live. (I move)
White can make life in two ways. Which way is the more profitable?
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PROBLEM 247, Black to play and live. (1 move)
You don’t have to think very hard to find a move that will make two
eyes for Black’s group.

PROBLEM 244. Black to play and live. (I maove)
If Black gives atari to the three white stones in the right way, his
group will live.

PROBLEM 245, Black to play and live. (1 move)

If Black gives atari to the white stone in the nght way, his group
will live.

. PROBLEM 248. Black to play and live, (3 moves)
With the right move, Black can live,
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PROBLEM 246. Black to play and live. {1 move)
If Black simply captures a stone, he will die.

249,
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PROBLEM 249. Black to piay and live. (3 moves)
If Black can capture a white stone, he will live,
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PROBLEM 250, White to play and live, (1 move)

Three of White's stones are in atari. If White takes a black stone, can !

he live?

PROBLEM 251. White to play and live. (1 move) -
White can live if he captures the two black stones on the edge in the

right way.
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PROBLEM 252, White to play and live. {1 move)
By using the oiotoshi technique, you can secure life for the white

stones.
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PROBLEM 253. Black to play and live. (3 moves)
Can Black take the one white stone that is in atari?

PROBLEM 254. Black to play and live, (1 move)
Can Black live by capturing two stones?

PROBLEM 255. Black to play and live. (1 move)
if Black 1s going to live, he has to sacrifice two stones.

— 95 -
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PROBLEM 259. Black to play and live. (I move)

PROBLEM 256. Black to play and live, (1 move) Black has to secure another eye at the top in order to live.

If Black immediately takes the four white stones, will he live?

_ PROBLEM 260. Black to play and live. (1 move)
You can secure life for the Hlack stones on the first move.

PROBLEM 257, Black to play and live. (1 move)
If you play on the vital point of the five-point nakade, Black will live,
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PROBLEM 258, Black to play and live. (1 Hiove)
The first thing Black has to do wn-order to live 18 to make one real eye,

e

261.

PROBLEM 261, Black to play and live. (I move)
If you can make another eye, Black’s group will live.
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PROBLEM 262. Black to piay and live, (1 move)
The first move secures life for the black group.

PROBLEM 263. Black to play and live. (1 move)
If you give atari to the white stone, the black group will die,
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PROBLEM 264. Black to play and live. (1 move)
If you capture the white stone on-the edge, the black group will die
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 PROBLEM 265. Black to play and live. (3 moves)
If you play the first move correctly, Black will have no trouble living

PROBLEM 266. Black to play and live. (I move) “
The first move decides whether or not the black group lives.
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PROBLEM 267, Black to play and live, (1 mnove)
If you can capture one white stone, Black’s group will live.
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SECTION 2. KILLING GROUPS

PROBLEM 268. Black plays White dies. {1 move)
If you play on the vital point of the 5-point nakade, White will die,

PROBLEM 269. Black plays White dies. (1 move)
Where is the vital point to prevent White from:ma king two eyes?
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: PROBLEM 270. Black plays White dies. (1 move)
Black 1s going to have to sacrifice three stones in order to kill White,
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PROBLEM 271. Black plays White dies. {1 move} ‘
Even though White can capture a stone, that point will become a faise
eye.

PROBLEM 272. Black plays White dies. (3 moves)
Kill ali the white stones!

1273,

PROBLEM 273. Black plays White dies. (1 move)
You can kill White by forcing im to make a three-point nakade.

— 101 -



PROBLEM 274. White plays Black dies. (3 moves)

Because of the lone white stone inside Black’s area, White has a move
to kill the black group.

PROBLEM 277. Black plays White dies. {3 moves)

If you sacrifice the black stone in atari in the nght way, you can kill
the white group.

PROBLEM 275, White ptays Black dies. {3 moves)
White can kill Black by sacrificing two stones.

PROBLEM 278. Black plays White dies, (3moves)

If you sacrifice the black stone in atari in the right way, you can kill
the white group. R
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PROBLEM 279. Black piays White dies. (1 move
A quiet-move kills the white group,
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PROBLEM 276, White plays Black dies. (3 moves) '
White can kill Black by sacrificing a stone,
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PROBLEM 280. Black plays White dies. (1 move)
1f you piay on the point wiere White would play;,

PROBLERM 281. Black plays Whité dies. (3 moves)
You have to sacrifice three stones in order to kill White.
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PROBLEM 282. Black piays White dies, (3 moves)
Make a four-point nakade and you will kill White,
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the white group di_es.
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PROBLEM 283, Black plays White dies. (3 moves)

:. ., There are two moves which canl be played in any order that ki}l White.

' PROBLEM 284. Black plays White dics. (1 move)
" "Putting two stones in htari is not enough to kill White.
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PROBLEM 2835, Black piays White dies. (3 moves)

Black must first defend his weak point. After that it is easy to kil
White.
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PROBLEM 286. White plays Black dies. (3 moves)
If you make a ‘bent four in the corner’, Black dies.

PROBLEM 287. White plays Black dies. (] move)

Where 1s the point that makes all but one of Black’s potential eyes
faise?
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PROBLEM 288, White plays Black dies. (3 moves)

I you make a five-point nakade, Black will die. A ko is not good
enough.
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In order to kill White you have to
the corner, :

290,

PROBLEM 289. Black plays White dies, (1 move)
prevent him from making an ¢ye

PROBLEM 290, Black plays White dies. (3 moves)
If you play on the vital point, it will be easy to kill White,
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PROBLEM 291. Black plays White dies. (3 moves)

Make a shape in which White is unable to move.
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PROBLEM 292, Black plays White dies. {3 moves)
Becaqse White is sitort of liberties, there is a way to kill his stones.

PROBLEM 293. Black plays White dies, {3 moves)
In order to kill White, does Black defend or attack?
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PROBLEM 294, Black plays White dies, (1 move)
Because White is short of liberties, there is a way to kill his stones,
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PROBLEM 295, Black blays White dies. (3 moves)
First of all, Black has to destroy White’s eye shape,

PROBLEM 296. Black plays White dies. (3 moves)
If you reduce the size of White’s area, you can easily kill his stones.
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- PROBLEM 297. Black plays White dies, (1 move)
If you reduce the size of White's area, you can easily kill his stones.
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PROBLEM 298. White plays Black dies, (3 moves)

By exploiting the shortage of liberties of the three black stones at {he
top, you can kill Black.

PROBLEM 299, White plays Black dies. {1 move)
Black will die if vou can prevent him from making an eye at the top.
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PROBLEM 301. Black plays White dies. (1 move)
By sacrificing one stone, Black can kill White.

PROBLEM 302, Black plays White dies. (3 moves)
By sacrificing one stone, Black can kill White,

302,

&
303 gQgﬁ
g@ &
310
PROBLEM 303, Black plays White dies. (5 moves)

In order to kill White, Black first of all has to sacrifice two stones
foliowed by a one-stone sacrifice.
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SECTION 3. SEKI

PROBLEM 304. Black plays and gets a seki {1 move)
15 impossible for White to kill Black by sacrificing four stones.

N1 PROBLEM 305. Black plays and gets a seki, (3 mpyes)
. Tt1s impossibie for White to kill Black by sacrificing four stones,

BESSEESRSIC woroen

305% i
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PROBLEM 306. Black plays and gets a seki. (3 moves)
In this position a faise eye is good enough for a seki,

- 112 ~
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306,

PROBLEM 307. White plays and gets a seki, ( { move) 3
I you don’t try to capture the two black stones, you: can get a seki.

PROBLEM 308. White ptays and gets aseki. (1 movg) i
Make a seki between the five black stones and the three white onés.

o

o
&-— 309,

PROBLEM 309. White plays and gets a sek, (3_ moves)
Make a seki between the centrai white and black stones.
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SECTION 4, KO PROBLEM 313. Black plays and makes a ko. {3 moves)

_ ; Make a ko for the life or death of the white group,
PROBLEM 310. Black plays and makes a ko. (2 moves)

Make a ko in the corner.

PROBLEM 314. Black plays and makes a ko, (4 moves)

If Black sacrifices a stone, he can get a ko.
PROBLEM 311, Black plays and makes a ko. (3 moves) .

Make a ko for the life or death of the white group in the corner,
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PROBLEM 312, Black plays and makes a ko, (4 moves)

PROBLEM 315. Black plays and makes a ko, -(',?‘moves)
Make a ko for the life or death of the white group in the corner.,

If Black sacrifices a stone, he can get a ko for the life or death of the
white group, '
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SECTION 5. CAPTURING RACES
PROBLEM 319. White to play.

PROBLEM 316. Black to play. How should White play to save his stones?
How should Black play to save his six endangered stones?

316.
320, 319.
318.
321
PROBLEM 317. Black to play. How s 1df§§§fLElM t32 0. V’t’hﬂeﬂl;o playgl ) ,
How should Black play to save his endangered stones? ow shou Ite play to capture the six black stones:
PROBLEM 318. Black to play. PROBLEM 321. White to play.

How should Black play to save his endangered stones? How should White play to save his endangered stones?
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PROBLEM 322. Black to play and win, (3 moves)
Can Black save his five endangered stones?

PROBLEM 323, Black to play and win, (3 moves)

How does Black play so as to capture the four white stones in the

corner?

9
B9

323, @) ®322.
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PROBLEM 324. Black to play and win, (1 move)
If Black makes a brilliant move, six white stones will die.

i
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PROBLEM 325. White to play and vwin, {1 move)
How does White play so as to capture five black stones?

PROBLEM 326, White to play and win. (3 moves)
H White sacrifices a stone, he can capture six black stones,

®
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PROBLEM 327. White to play and win, (3 moves)
If White sacrifices a stone, he can capture seven black stones.
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PROBLEM 1 2%
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PART TWO Correct Answer Wrong Answer it
2 By playing at !, Black rescues 3 connects to the right of 1 lét
ANSWERS u hhis four endangered stones. Now Capturing a stone with 1 fails. 3y
the three white stones on the '  After giving atari with 2 and 4, i b
right are doomed. White will capture seven black Ti
stones. iy
PROBLEM 2
K
2
8601
@O
-@0O0)
i} o Correct Answer Wrong Answer _
B By giving atari to ‘a white If Black ptays 1, White blocks ‘
3 stone with 1, Black can save his the escape route with 2 and the &
: -ill = three endangered stones. four black stones will be captured s
ko on the next move. - 3%
I Ce Pl
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PROBLEM 3
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Correct Answer
Giving atari with Black 1 1s the
correct answer. If White connects
at 2, he can’t escape after 3.

Wrong Answer
If Black plays 1, White 2 puts
seven black stones into atari.
Black has failed.

PROBLEM 4
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Correct Answer’

4 connects to the left of 2

First of all, Black gives atari
with 1 and 3. Now, with the atari
of 5, it becomes a ladder and
White cannot escape.

Wrong Answer
Connecting with Black 1 iets
White off the hook. After White
connects at 2, he cannot be
captured.
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PROBLEM 5
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Correct Answer
If Black plays I and 3, the ten
white stones can’t avoid capture,

Wrong Answer

Playing at [ here allows White’

to catch a black stone with 2
and thereby escape.

PROBLEM 6
@ &1
,ﬁ%@“ OG-
@8 @ @ -+
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¢ g
Correct Answer Wrong Answer

If Black plays 1, the eight white
stones can Dbe captured on the
next move,

Giving atari with 1 here fails,
White extends to 2, leaving Black
with too many defects in his posi-
tion to defend properly.
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PROBLEM 7
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Correct Answer
If Black plays 1, the three
white stones in the center can-
not escape.

For Reference

If White tries to escape with 1

~and 3, Black blocks with 2 and

4, so there is no way to avoid
capture,

PROBLEM 8
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Srocre
_ Wrong Answer
Giving atari with [ here fails.

S
:@;g

OO

898%

Corf‘ecr Answer
If Black plays 1, the four white
stones cannot escape.

=

20D
Q%ooab

longer be captured.
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White extends to 2 and can no

PROBLEM 9
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OO0 OO
Correct Answer Wrong Answer
Black i captures two white Black i may capture a stone,
stones, so the four black stones but after White plays 2 the

seven .black stones on the nght
are dead.

on the right will link up to the
two in the center,

PROBLEM 10

- Correct Answer Wrong Answer

Giving atari with 1 1s the cor-
rect answer, White’s attempt to
save s stones with 2 and 4
15 futile: after Black 5, ten

white stones will be captured,

The white stones are now safe.
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Defending with 1 is wrong.
White defends his position with 2.
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PROBLEM 11
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Correct Answer
Black can save his eight en-
dangered stones by giving atari
to two white stones with |,
These two stones cannot avoid
being captured.

PROBLEM 12
t

Wrong Answer
Giving atari with Black [ here
fails. After White connects with
2, the nine black stones are dead.

@
&1

@1 @
k_xm___

iR seee 3
6009008
Correct Answer
Black 1 is the right move. The

black stones on the edge can no
longer be captured,

FEOOOOOS
909896 0
$&--2-
Wrong Answer
Connecting with Black | here
fails. Because of a shortage of lib-

erties, Black cannot defend hig
two stones 1n atari,

- 126 —

R

PROBLEM 13

Correct Answer
Black [ and 3 are the moves
that capture six white stones.

Wrong Answer
If Black unmediately captures
two white stones with 1, White
will connect at 2. The six black
stones at the top are now dead.

4.

™

PROBLEM 14
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BB [BEG3080
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Correct Answer Wrong Answer
After 1 and 3, there is no way Black 1 fails. After- White
for the four white stones that takes with 2, the best Black can

are in atari to escape capture, hope for 1s a ko,
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PROBLEM 15 PREOBLEM 17

. | i
1EN

Correct Answer E Correct Answer
i

‘Black | captures the two
white stones in the comner. Note
that White cannot connect at

Wrong Answer
Capturing one stone with Black
1 fails, Black dies after White

Wrong Answer
If Black plays at 1, White cuts
off one black stone with 2, s0

: If Black connects at 1, he will
eventually be able to capture the

plays 2. two white stones on the right. now the two white stones cannot
the 1—1 point (oshitsubushi), so be captured,
Black lives with two eyes,
" o PROBLEM 18
PROBLEM 16 %

o
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Correct Answer Wrong Answer A

v
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29

Black 1 again creates an oshi-
tsubushi shape, so the four
white stones in atann will be
captured,

2 vetakes to the right of 1
If Black takes two stones with
1, White retakes with 2. Black is
dead because he will eventually

“be reduced to one eye,
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VA Correct Answer

. By playing at 1, all the white
stones are linked up into one
group,

If Black plays first

If it were Black’s turn, he

would play 1. Now the two

white stones on the left are

isolated and cannot make a living
shape.
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PROBLEM 19

Correct Answer
| If Black cuts with I, there is
| no way that White can rescue his
‘E , four stones on the right,
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Wrong Answer
If Black plays |, White con-
nects! with 2. All Black can do
now is to capture the stone m
atari, Black has failed,

Y

PROBLEM 20

O

@,

LGe6E

; Black 1 is the correct answer.,
P If White 2, Black plays 3. Black’s

stones on the boftom lieft are
intact,

O@ DOO@
8035 ;870
5508 T 606
317 &-
Correct Answer Wrong Answer:

Black 1 fails, After! White 2
and 4, three black stones will be
captured.
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PROBLEM 21
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Correct Answer
If White gives atari with |.
his stones above and beiow will
be able to link up,

Wrong Answer
If White gives atari with | here,
the lone white stone at the top

will be cut off and captured after
Black 2.

PROBLEM 22

Q@O
mie: e

Wrong Answer
A move like Black 1 fails.
After White 2, the two black

stones beiow are cut off and will
die.

Correct Answer
Black 1 makes a ‘bamboo

joint’, All the black stones are.
connected,
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PROBLEM 23 PROBLEM 25
® O ‘
EPotmY "oy HEERISSHAL o )
~ - 5
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~ Correct Answer Wrong Answer Correct Answer i Wrong Answer )
Black 1 and 3 catch two white Giving atar1 with Black 1 fails, Black should piay 1, thereby If White s allowed to play
stones. White’s territory has been White connects with 2 and his hnklng up all his stones. Black’s stone at the top will: be
devastated. position 1s secure, captured.
PROBLEM 24 PROBLEM 26
SRR N
+ RN
HERERERE
Teb B
K . L I l '
biasls - ieesasls | Helbe O
-' elo | P
8% 20+ .. o %% |
Q@ Cl'/ il Q -
i 1 ' . ] -
anectAnswer ' Wrong Answer : r R L
Black plays 1 and, if White Blocking immediately with 1 3 Correct Answer Wrong Answer
continues with 2, plays 3. All fails, This lets White catch four " Black 1 is the correct way to Black 1 is an overplay. After
the black stones on the right are stones by giving atari with 2, defend his territory against White 2 and 4, Black suffers a big
now safely connected, o 9 White’s intrusion. 1oss.
— 132 ~ ~133 -
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PROBLEM 27 |
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Correct Answer Wrong Answer
Black 1 i1s the correct way for All moves other than the
Black to defend his position. correct answer, like Black I here,
are all inferior and lose points,

PROBLEM 28

O

bor ie
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& e

Correct Answer
Black | is the correct way for
Black to defend his position.

Wrong Answer
If Black makes a move like I,
White will invade with 2, devas-
tating Black's territory.
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PROBLEM 29
&0 0D
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Correct Answer

The'only way to play is for
Black to take the ko with i.

Wrong Answer
Connecting with Black 1 is
wrong. If he plays this way,
White gains the initiative in the

ko fight,

PROBLEM 30
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Correct Answer
Starting a ko fight with Black
1 15 the only way to rescue the
six black stones in the corner.

-4
&+&
&
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2 o

Wrong Answer
There is no way for Black to
make two eyes in the comner, If

White plays 2, the black stones
are dead.
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PROBLEM 31
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Correct Answer
Giving atan with Black 1

captures all the white stones

on the right,

Wrong Answer

Black might be able to'capture

three white stones with 1, but

six black stones die when White
gives atari with 2.

PROBLEM 32

Correct Answer
If Black piays 1, White has no
move to save his six stones.

OBG
8.

For Reference
In other words, because of a
shortage of liberties White cannot
give atari to the black stones on
the left. But after Black i, Black

can give atari to six white stones

from the nght.

_136- "
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PROBLEM 33

Correct Answer
White 1 forces Black to
tespond with 2. White 3'then
gives atar1 to the eight black
stones.

Wrong Answer
White 1 fails. After giving
atari with 2, Black will capture
five white stones.

PROBLEM 34
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Correct Answer
‘White 1 catches four black
stones, There is no way Black
can defend these stones without
putting himself into afari.

Wrong Answer
If White plays i, Black gves
atari with 2 and catches six
white stones,
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PROBLEM 35

€60
@,

€. 2

©ee

Correct Answer

If Black plays 1, there is no

way that White’s stones can live,

Wrong Answer
Black i bere lets White get
two eyes and life with 2,

PROBLEM 36

Correct Answer
Sacrificing two stones with 1
is the correct answer. But what
does Black do after White 27

For Reference
Black 3 guaranteesthat White's

eye on the edge will be a faise
one, so White is dead,
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PROBLEM 37

Correct Answer

Not only does Black 1 guaran- ‘

tee the capture of a white stone,

1t ‘also gives Black two eyes and
life.

Wrong Answer
If Black gives atari with i,
White captures a stone with 2.

Black has only one eye and is
dead,

L4

. PROBLEM 38

866
8%
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Correct Answer
Black 1 not only catches a
white stone but also gives Black
two eyes and life.

Wrong Answer
If Black plays 1, White 2
destroys Black’s eye snape, 50
Black is dead ;
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PROBLEM 39

Correct Answer
White 1 not only catches
a black stone but also gives
White two eyes and life.

. Wrong Answer
- TIf White plays 1 from above,
Black 2 destroys White’'s eye
shape, so White is dead.

L PROBLEM 40

&

Correct Answer
White can make a second eye
by playing at 1, so he is alive,

Wrong Answer
If White plays 1, Black will
strike at the vital point with 2,

_ White is now unable to make two

eyes, so he is dead,
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PROBLEM 41 A

|
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Correct Answer
Sacrificing four stones with
Black 1 is the correct answer.
1f White captures with 2 ., .

PROBLEM 42

\ l

I [ .
For Reference L

The shape is now a four-point i

nakade, After Black 3, White

will eventually be reduced to one

eye, so hie is dead.

Q0

55599~

Carrect Answer
Sacrificing four stones with
Black i is the correct answer.
If White captures with 2 ...

_ 141 -

For Reference
In this situation White is dead.
There is no way he can make two
eyes.




PROBLEM 43
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Correct Answer
If Black plays 1 and 3, White
dies because he cannot make two
eyes.

Wrong Answer
If Black plays I, White gets
two eyes by playing at 2, so he

is alive,

PROBLEM 44

PROBLEM 45
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Correct Answer

Wrong Answer
‘Black I results in a seki,

4 ptayed below 2
Black can capture four stones
with 1 and 3, but the situation
becomes a four-point nakade, so
Black is dead., o

PROBLEM 46

Correct Answer

After the sequence to 3, White
must capture three stones, but
Black will play back in at the

point 3, so White will die.

Wrong Answer -

Black 1 fails, After 2, White

gets two eyes and lives,

— 42—
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Correct Answer

Black I results in a seki.

Wrong Answer
If Black plays i, he is dead.
Even though Black captures
three stones, he cannot make
two eyes.
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PROBLEM 47

Correct Answer
White 1s - dead. Black will
sacrifice four stones by giving

atari with I and White can only
get one eye.

PROBLEM 48
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PROBLEM 49
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Correct Answer N B
For Reference _ White must some-
Sacrificing four stones with how remforce his pos- () -
Black 1 here 1s wrong. After ition on the right with . l i
White 2 there is no way to a move like 1. Black 2 ENRNEE
prevent White from making two . is the normal response. | l

eyes.

$-s78

Correct Answer

All the white stones are dead,

Black can piay at A and B

any time he chooses. White can-
not try.to capture Black,

~ 144 —

_ Black captures four white stones

33

For Reference
It is easy to see that after

the seki is broken,

Wroiig Answer

If White makes a
move in another part
of the board, with I
for example, Black will
piay 2, putting White at
a great disadvantage on
the right side.
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PROBLEM 50 PROBLEM 52
&- DO @ . S
' — &
Correct Answer &
i Making a two-space —
zp extension with White | -
ol 1s the correct answer, B i _
e )
ni: | &
it
gl
I,V:. F tl -
%{ i, Wrong Answer $ Q1O w @ PNy
i Jumping out into & Correct Answer 1 e
ik ) . . A - t '
it the center with White ()-1— L one-space jump to & L&
' 1 lets Black extend to . ' ‘ | Black 1 is the stanqar,a O
2, robbing White of a ] ! ) response to White’s
base along the top, : : move,
PROBLEM 51
— @
)
Correct Answer b @
In a position such as ;) O &
this, Black ! is the N
standard extension, ‘
@ @
Correct Answer 2
Exchanging ! for 2
: _ ) O@)
before jumping to 3 is h
; ; e also good. Depending ; ,
- I{fwfiztnew};ig S\{’Tlrfist;’s }i : on Black’s choice of *‘"%B @
tum to play, he would . D @ strategy, 3 at AorBis : E
also play at the point 1. also.a good move.
— 146 — N — 47 —
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‘Correct Answer

Black should piay at
either I, A, B or C.
‘Whichever point he
chooses, the important
lesson here is to pre-
vent his isolated stone
on the left side from
being encircled and to
lead it out mto the
middle *ogtl1e board.

Wrong Answer

It is wrong for Black

to try to live immedi-

ately with 1 and 3.

This kind of play gives

Black a small, cramped

position on the side,

. while White builds n-

fluence on. the out-
side.

PROBLEM 53
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Correct Answer
Blocking White’s ac-
cess to the comer with
1 is the correct re-
sponse. This move 1§
a hasic josek!,

_ Wrong Answer

i PBlack 1 is a bad
move, White moves
into the comer with 2.
Black Ias suffered a
big loss.

PROBLEM 54
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PROBLEM 53
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C’o?rect Answer
Black [ 15 the correct answer.

This 1s the standard move in this
sifuation,

Wrong Answer
If Black piays 1, White will
respond with 2, giving Black an
‘inferior result, '

PROBLEM 56
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Correct Answer
In this situation Black 1 is the
standard move.

Wrong Answer
If Black plays 1, White plays 2

and, as before, Black’s result is
inferior.
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PROBLEM 57
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Correct Auswer 2

White has two defects: the Black’s defect is at A, If White
points A, If Black pilays'on these plays here, Black will suffer a big
points, White will suffer big losses. loss, '

PROBLEM 58

O

HOOLE

Wrong Answer

Since the three white stones

can’t live, Black 1 is a wasted
maove,

i

Correct Answer:
White’s three stones on the

left can’t live, so Black should
fill the ko with 1.
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Correct Answer

Invading at either A
or B is a good move,
Either one could be
considered the correct
answer, '

Wrong Answer

If White were to
play C, Black would
play 1. If instead White
D, Black B. In either
case, White would be
at a disadvantage, With
D, White would suffer
an outright loss.

I

Cbrrect Answer
White C and D are
the usual : invasion

moves. ~  Both are
correct,
For Reference

White A and B are
too high. White ‘would
be a bit insecure be-
cause he would be un-
able to form a safe
base. In special pos-
itions; however, such
moves are conceivable.

PROBLEM 59
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Correct Answer

There is a proverb
which says, “‘Answer
the capping move with
a kmght’s move.” In
conformance with this
proverb, Black 1 is
the standard response.

- For Reference

‘Depending on the
situation, Black. 1 and
Black A are also poss-
ible: responses, - Actu-
ally, -there are many
ways of answering the
capping move.

Correct Answer

Blocking with Black
i ;here is the correct
answer, [t is important
for Black to make
a large territorial frame-
work with Ivis stones
on the jeft, You should
block on the wider side,

- Wrong Answer

Black 1 here allows
White to encroach into
Black’s sphere of influ-
ence. Black has suf-
fered a loss. "

PROBLEM 61
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PROBLEM 62
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fj PROBLEM 63
II PROBLEM 65
W S -
M =) A- )W&
E“ Correct Answer e e "C'){**ﬂ‘ #‘*
i Blocking with Black |[—+& y =] . S
I is the correct answer. @@-—
: Black next aims to -
invade at the pomnt A, B ; -
i
L Correct Answer
. | . N P oo Making a corner en- -
'f White Plays First J TRy T 4 closure with 1 1s the
: If it 1s White’s turn, |~ | T _@ 1 correct answer. Be-
gy White 1 1s a big point, ' é ' cause of the influence
Black siould prevent ? of the black stones on
K White from pilaying it O N Y ! the rnight, White should AL
o this move, T aim to make a terri- ’ A ‘
' torial framework atong N/ _ @
PROBLEM 64 the jeft side. LT
!
Correct Answer
Black | is the correct - Q} ‘
answer. This move @ &
attacks the lone wiite —-& —
stone by pressing it _ - *-&- i Q)
against the two black —+ - -5+ — For Reference
ones in the lower night, - If White makes a
k corner enclosure with
) i, Black will play 2. &
iy | This move works very |- : @1
L Py wgl; i conjunction-
s L with Black’s stones on
i If White Plays First the left side to develop
; : White | 1s an excel- “"@ P alarge territorial frame- PPN
i lent pont, White’s . p T A work. After Black 2, 1Y .
L group at the bottom is @ b d @ the game will become i
,r now secure. N difficult for White,
: : .
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PROBLEM 66

Correct Answer
After Black 1, there is no way

for White to rescue his two
stongs, 7

_ Wrong Answer
On ‘the other hand, if Black

black stones in atan.

‘PROBLEM 67

33
d
BEE

1T T
. “Correct Answer Wrong Answer
Giving atari with White 1 1s Capturing a stone with 1 fails,
the cprrcct answer, Connecting After Black connects with 2,
at 2 is of no help. After White the six white stones at the top
gives atari with 3, Black has no

will die.
way to rescue his five stones,

PROBLEM 68

, ﬁ% gg i

|

) - @‘({/ I
Rkl .

Wrong Answer
1f ‘Black presses from the

outside with 1 here, White 2
~will catch the two black stones
in the comer.

Correct Answer
After Black 1, the three white
stones can’t avoid being captured.
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plays 1 here, White 2 puts eight

PROBLEM 69

| I

Correct Answer

If Black gives atarl to three
white stones with I, there is no
way that White can save them,
Thus, Black can connect his
stones at the bottom to the ones
on the outside.

Correct Answer
The combination of 1 and 3
leads to a snapback, so the siX
white stones will be captured.

PROBLEM 71

Correct Answer
Black 1 is the key move, White
might struggle to escape with 2
and 4, but after Black 5 White
can’t escape.

| PROBLEM 70

Wrong Answer

Giving atari with Black | here,

jeads to the loss of eight black
stones at the bottom.

R
I
_:-.
|
I
[ i
For Reference

If White responds to Black 1
with 2, Black gives atari with 3
and wins the capturing race. Black
1 is the oniy move that will
capture the six white stones.

jRannase

T vl
For Reference
White 2 and 4 are symmetrical
to the correct answer moves, but
the result is the same. This shape
is known as ‘the crane’s nest’,
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Correct Answer
Black 1 is the key move to
capture two stones. All the biack
stones are now connected,

PROBLEM 72

M .

i
|
ol
[

[ |
PN
C&E
&

&

e

N

=7

o

|
LR ]

Wrong Answer
The sequence frot Black | to
7 1s too blunt. Even though some
of Black’s stones have escaped,
the rest are dead,

PROBLEM 73

®A
. _@ m
e ey
HH B

Correct Answer
Sacrificing a stone with | and
then giving atari with 3 traps five

I
!

1§20 25
Ceeed

Wrong Answer
Black I here fails. White saves

all of his stones by connecting -

white stones. at 2.
PROBLEM 74
[ ] . NN (J . O O O
P els
- & FA- @ —J; —-
: -@3(’12% OO —
q OO
T@O |1 - ~1 GB -
Correct Answer Wrong Answer

Black | is the vital point for
linking up the two black groups.
There is no way White can break
the connection,

Black 1 and 3 are refuted by
White 2 and 4. If Black plays 1 at
A, White 2 at 4 again leads to
Black’s failure,
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PROBLEM 75

Correct Answer
White 1 establishes the link. If
Black takes two white stones,
White retakes one stone,

L
&6
@O

l

RN

Wrong Answer
If White tries to save his two
stones in atan with 1, Black
gives atan with 2 and the white
group 1n the corner is dead.

PROBLEM 76

,w W .
ot
20811
Correct Answer
Black 1 prevents White from
linking up his two groups. After

Black 3, the white stones in the
corner are dead,

™y

RAENED
Wrong Answer

1 may seem like a weak point,

but if Black reinforces here,

White links up all' his stones -

with 2.

PROBLEM 77

I
i

Je®

8
8@

Correct Answer
Black 1 is a simple move, but

it secures a connection between

the top and bottom black groups,

M

Wrong Answer ,

Black 1 here fails, After White

2, Black is unable to connect his
two groups.
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PROBLEM 78
| AL T 1y AL
BRSOy T sbes
- ——@ 2 |
e B

Correct Answer
Sacrificing a stone with Black
I is a brilliant move. Black 3
next makes escape impossible,

Wrong Answer
Black 1 here has no meaning,
If White is able to connect at the
point 2, there is no way to cap-
ture the white stones,

PROBLEM 79

Correct Answer

If Black piays 1, it will be

impossible for the four white
stones to escape.

Wrong Answer
Black 1 is a crass move, White
can escape with 2. Now the black
stones in the comer are dead,

PROBLEM 80

“ BT
g ®@- |-
(?LJ
Wrong Answer
Black 1 here is a mistake. Black

“loses two stones when White
plays 2 and 4.

- Correct Answer
Either Black 1 or A is the
correct answer. Playing at B is
‘a2 bit infenor, however,
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Correct Answer
White 1 is the right move. Now
when Black plays 2, White can

take two stones with 3.

S

1yt

o

|
9

30

Lo

ensure

|
Correct Answer
Either Black 1

the two black groups,

or A will
a connection between and

PROBLEM 81

@O a9
@
Wrong dnswer 7
White | is the move you léarn
when studying joseki, but here it
is inferior to the correct answer.

PROBLEM 82

o

b
i

Wrong Answer
Black 1 hnere fails. White 2
4  prevent Black from
linking up his groups.

50

@_

%er

.

PROBLEM 83

Black 1 is the only move that
"keeps all of Black’s stones con-
nected, If White tries to separate

i
Correct Answer

them with

with 3.

2, Black connects

Wrong A nswer
Black 1 fails. White plays 2,
aiming to cut the black stones
in two places,
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PROBLEM 84

% i
OB

gth

Correct Answer
Black I is the vital point. If
White plays 2, Black plays 3 and
there is no way that White can
prevent Black from linking up.

@

Wrong Answer
Any other move, like Black i,
for*instance, fails. After White 2,
1t i3 umpossible for Black to link
up his groups, so the corner dies,

PROBLEM 85

?Z?ﬁg.k{g@@_‘j

Correct Answer
Black 1 aims at two cutting
points, 2 and 3. Whichever one
White defends, Black will cut at
the other,

HHH ST

T x_g@ ol

it

it {1

: @ 1 ._(2 ®m
___?; - _Q$ —_
Wrong Answer

Black 1 1s a bad move because
it forces Wihite to defend one of
his weak points. Now all the
white stones are connected.

PROBLEM 86

e

.t RaREE:

¥
Correct Answer
Black | and 3 put three white
stones in atari. White cannot es-
cape, Reversing the order of 1
and 3 is also correct,

Wrong Answer
Captufing a stone with 1 and 3
is bad because Black loses two
stones when White plays 2, Black
| &t A is even worse.

' PROBLEM 87
o ST
8O0
gaecior
T1 t
CBEH
- ’}__
Correct Answer Wrong Answer
Black i and 3 set up a snap- If Black piays I, he will lose

back,.
wlute stones.

so Black can capture six.

PROBLEM 88

two stones when W}ute pays 2.
This 1s a failure for Black,

r

(23

W
st
ﬁ&" !
Correct Answer
The trick is to sacrifice a stone
with Black 1. After White 2,
Black gives atari with 3 ang

White can’t connect at 1 because
of a shortage of liberties.

Tl

§ oy
4] _w 0 ._Q__
%—%&93 o

Correct Answer
If Black gives atari with I, all
White can do is to extend to 2.
If White 2 at 3, Black 3 at 2
and Black captures four stones,

'PROBLEM 89

I

Wrong Answer .

Black 1 is too simple, ‘White
Connects at 2 and Black is at &

ioss for a follow-up move, Black
has failed.

X0
4 »{l}-_
# ]

Wrong Answer
Black 1 is-an overplay, Black
suffers a big loss with the se-
quence to White 4,
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PROBLEM 90 F
. agul:}% ‘%gg : PROBLEM 93
B 3 2 . N
B8, gRmRS )& EREN ISR ER N
.0 Correct Answer { T @_ @[ T
(]J}.L_ . d}A . - Jumping out into |~ le T ! @_\ |
' ! .] ' the center with Black PN i Ot : :
- - Correct Answer Wrong Answer 1 is the standard way d @'{\ﬁl || l
Black 1 is good ‘shape’ and If Black piays any other move, to piay in this type.of | qp r |1
the black stones are now alive. he will be at a disadvantage. position. Next, if White LA L
. A, Black will piay B., B
— PROBLEMO91 . o o R ' 3
s .2}--!-- - ' Wrong Answer ;
%$ O - ‘%)“Sl} : Black 1 and 3 are | |j l \l L1 _Il l \\ l\ \1 l| ‘l
29 @R answered by White 2 —-( ()—WQ ) —@L“ t
PP P9 ' and 4. This way of N @—~® e
-¢ -¢ moving out into the — - @O
! | center 1s often disad- @)
- Correct Answer _ Wrong Answer vantageous for Black @gl ]
Black 1 1s the potnt to make If White plays on this vital because White keepsa |7} ! [\‘}J HEEREE
a living shape for the black group. point,it'llbe hard forBlack to live. step ahead. i T T S T N A S O B A B
o~ PROBLEM 92 PROBLEM 94
I '
— e a
i } -
P '\XIJ ? Correct Answer L |
- $ | Biack should play at | { l‘ l
{. If White 2, Black 3. @ | |
~ Correct Answer For Reference In this way he can link . ?O Y- ] ll
Black 1 is the vital point for If White defends with 2 and 4, ) up s two groups on @ - —@ .
attacking the white group. . White is dead after Black 5, the left and right. 1] ll | EEE
' I | - J
- _%%%* ) mg@ 0 1 1 | |
ree PY%eE ‘.
e oY T
‘ AN 2 & i Wrong Answer s T _
~ Wrong Answer 1 Wrong Answer 2 ¥ Cutting at } 15 un- [T 7[L L ﬂ(@) . | N
Black | and 3 are ‘gote’. so Black 1 lacks forcefuiness. L reasonate for Black. R
White can escape with 4, ‘White can easily live with 2, 8 After White 2 and 4, | ]
s B ’ T Black is in trouble. l HERRE
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Correct Answer

It is imperative that
Black defend the cut
(to the right of 1} with
1. This move is essen-
tial if Black is going to
make a moyo on the
left.

Wrong Answer
Black at I, A or B
defends against the cut
at I, but these moves
are less satisfactory
than the correctanswer.

Correct Answer
Black | defends the
two cutting points, so
all the black stones are
linked up as one group.

Wrong Answer

If Black plays at I,
White will piay at 2.
The three black stones
at the bottom are now
cut off and will dje, If
Black i at 2, White
will play 2 at 1.

PROBLEM 95
@O0
_‘ _‘,% S
$ — @K - ——
- &
@ —
Wv_
@
88
B--@
6
@A_

PROBLEM 96

PROBLEM 97

Correct Answer
‘Play at the head of two stones.’

Following this proverb, Black 1

is the vital point.
Wrong Answer
Black 1 15 also at the ‘head of
two stones’, but in this case it is
unsatisfactory since White can
take the strategic point of 4.

Unsatisfactory
Black i here lacks the power
of the correct answer. Black’s
result is unsatisfactory.
If White Plays First
If it were White’s turn, he
would play at 1, his vital point,
which is ‘the head of two stones’,

O«H__

Correct Answer

[

ont

{ L]

Unsatisfactory

PROBLEM 98

Correct Answer
The: correct shape in this posi-
tion is for White to extend to 1.
This is the only move.
For Reference
After White 1, Black exchanges
2. for 3 and 'the position will be
left as it is for the time being,
Wrong Answer 1
White 1 is unreasonable. Black
2 and 4 capture astone and White
has suffered a big loss.
Wrong Answer 2
White 1 may look like good

shape, but Black can easily move

out along the side with 2. White’s

result 1s inferior,

TTe]
oe0

X N
983
RN

Correct Answer

090

Wrong Answer

_‘.,.,____() }' .. .

O

] Y

NN
For'Reference

Py
\

- YR

1
M

Wrong Answer 1
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PROBLEM 99 PROBLEM 101
. Correct Answer ; ]
fil\ ‘ Black has no choice {l)@@ o
. N C
White 1-is the vita | ~OOBOD- stone by giving atari OO0
point. When Black ' e M- with 1. When White
takes with 2, White can OO captures with 2, Black
easily link up his two * givesataritotwo stones
groups with 3, O+Or1— " “with 3,
, - Wrong Answer
3 ' If Black connects é@@
S . \ ; . D@
O 0BO0- with 1, White plays 2 SOB
Wrong Answer OO OD- and 4, catchmg four | _ :
If White gives atari @O0 black stones. In addi-
“with 1, Black will play ——1- €@ — ' tion, the remaining
2 and the three white : seven black stones are |__ : -
stones in the comer 1 insecure because they :
will die. OO ] lack ‘eye shape’.
" PROBLEM 100 I PROBLEM 102
Correct Answe L Correct Answer _
Blaoc]: ghoulsdwn:ove l;' Black 1 strikes at the ? ?“
out: with 1. If White e {[} o weak pomt of White}s @ =
tries to save his iso- ' P—+0 ¥ shape.  With the se- |° @ 5 @%@
Iated stone, he will have A}—éﬁ—() i) ] o quence to 75., White has e S
a very difficult fight. T suffered a big ioss. N (Pg}
25 Wrong Answer
I If Black plays 1, @
Wrong Answer b White’s stones are se-
Black 1" here is an C ‘Q @ 28 cure after 2, If Black | @
i - @O @ at A, White 2 at B. In
overplay. White coun /ID__ 20 o o .
terattacks with 2 and 4, r

either case, Black has
failea.

catching a black stone,
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Correct Answer
White 1. playing ‘at
the head of two stones’,
is the correct fighting
move. If Black 2, White
plays 3, giving  his
~“stones excellent shape.

- Wrong Answer

White 1 allows Black
to-take the vital point
of 2. Aflter the ex-
change of 3 for 4, itis
Black who has the
advantage in the fight-
ing to follow.

Correct Answer
Jumping to Black 1

is the correct move. If
White 2, Black 3 es-
tablishes the linkup
on the ieft side, All of
Black’s stones are now
strong.

Correct Answer

Black § and 3 are
the moves that secure
the comer for Black.
At this point, play in
this part of the board
comes to a pause.

Wrong Answer

Black | 1s unreason-
able., After White 2,
not only are Black’s
stones on the left dead
but his territory on the
right is devastated.
Black I at Aisalso bad.

Correct Answer

1 gives Black good
shape. After White ex-
tends to 2, the se-
quence comes to an
end, Black 1 and White
2 in this exchange are

~ standard moves.

T Wrong Answer
Bll:égnigigl:s\::g bad Not only 1s Black 1

moye. White forces gote, but it also gves Pt
with the sequence to 6 him bad shape. White Y _
and Black is at a great can now play elsewhere ol L ||
disadvantage or, if he wants, can et

15 Be- play & good move at A, R R |
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Correct Answer
Sacrificing a stone with Black
! 15 a brilliant move. After White
takes with 2, Black 3 makes
White’s second eye a false one.

TTTe
&

_ Wrong Answer
If Black first ptays 1, White
makes a second real eye at 2,
giving his group life,

PROBLEM 108

Correct Answer
Black 1 is the vitai point. White
now has only one real eve (two
lines below Black 1). All.the
others are false, so White is dead,

Vrong Answer

If Black plays anywhere eise,
White will make his second eye
by playing at 2, giving him life,

PROBLEM 109

\

Black 1 makes the big white
eye above false, then after White
plays 2, Black 3 leaves White
with only one real eye,

.

1

Wrong Answer
If White is allowed to play at
2, Black will be unable to pre-
.vent White from making two
eves below,

—~ 172 —
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S 469

&
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Correct Answer
Biack must sacrifice two stones

with 1, then after White takes

with 2, throw in another stone to

the right of 1. White is dead be-
cause he has only one eye.

PROBLEM 110 bl

o0
o e
6

g

hadNN
Wrong Answer

Even though you can capture
two stones with Black 1, White is
able to play at 2, gving him two
eyes and life,

*

PROBLEM 111

‘Correct Answer
White 1 is the vital point of
the 5-point nakade shape. Black
will eventually be reduced to one
eye and so he 1s dead.

Wrong Answer
If vou let Black oaccupy the
vital point of 2, there 1s no way
to kill his stones,

PROBLEM 112

T .
Correct Answer |

‘Black must increase his sacri-
fice to five stones by playmng at

1. After White captures with 2,

Black destroys White’s eye shape
by playing 3 one point above 1.

1]
R
L J
#
666

IR
Wrong Answer

‘If Black captures a stone at 1,
White 2 puts four black stones
into atari. Black can’t escape,
so White can now live.
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Correct Answer

Black 1 and 3 create g S-point
nakade shape, White is dead.

s

. Y- T 5 N
PROBLEM 113

..
Wrong Answer

PROBLEM 114

If Black 1,

I

White 2 catches
two stones. White gets two eyes.

F S T | o |

%P—ﬁx’)d% SR tﬁjﬁ

e FHCee

2310 T @0?

S T &

T8 T8

-0+ 8@ - b

oy ANE s

11 B L

Correct Answer Wrong Answer

Black | prevents White from
making a 5-peoint nakade shape,
If White 2, Black lives with 3,

If Black plays |, White makes
a4 5-point nakade shape with 2,
s0 Black’s stones will die.

PROBLEM 115
(82

22

&
8T

i [
Correct Answer

Black 1 threatens two snap-

backs. Two white stones on
either the left or right will die.

PROBLEM 116

O @l 1t
TTo8eT

] OB
Rdady
Correct Answer
Black 1 is the vital point for

eye shape. If White 2, Black lives
with 3 and vice versa,

110 —t-
T ;T|
Wrong Answer
Giving atari with | and 3 just
lets White live. After White '4,
Black can’t destroy White's eyes.

R

Wrong Answer
If Black plays at 1, White gives
atari with 2. Black is dead.

~ 174 —
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Correct Answer
If Black connects at 1, there
1s no way for the isolated white
stone to escape. So Black has
two eyes and iz aljve,

PROBLEM 117

| -

B

Wrong Answer
I Black plays 1, he puts him-
self into atam and is captured by
White on the next move. All the
black stones are now dead,

PROBLEM 118

i 3

Correct Answer
Black 1 is the vital point. If
White 2, Black 3 makes two eyes,
If White 2 at 3, Black 3 ai 2
again makes two eyes,

b

Wrong Answ

&
er

If Black plays 1, White hits the
vital point with 2. After White 4,
Black will eventually be reduced
to a 3-point nakade, so he is dead.

PROBLEM 119

Correct Answer
If Black plays at 1, he will
have no trouble making a second
eye.

OO,
18

S
"y

L l l
Wrong Answer

if Black plays I, he is killed by
White 2, Black 1 in the correct
answer is the only way to live.
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PROBLEM 120 PROBLEM 123
AR OO0
Bresel’
18R o7 T = T T T
\ \ N
‘ | l O-+-0
_ ‘Correct Answer Wrong Answer ‘ Correct Answer | ‘l ‘\ l
Black 1 destroys White’s eye Timing is important. If Black Taking ‘with Black 1 il {>—‘~
shape. If White 2, Black 3 kills 1 first, White gets two eyes by : is a huge move, It gives | NEE —
all the white stones, playing at the vital point of f’; Black certain profit and RN I|
2. thickness i the fower . RN i
jeft comer, In the mean- . RN
PROBLEM 121 . time, White has used BN
w _ N two moves in the lower
right comer, but Black
can easily live with 3. -
‘ . i is a timely move >
1 @ - **@;@@" ) _ that gives Black a solid @@ﬁ?
: PY Ve ®8 : jead, i L1 ]
o HEEERNE
43 0 | :‘IT }
Correct Answer Wrong Answer - 5 e
If White plays 1, he can make If White 1, the killing move is | H
his second eye at either 2 or 3. Black 2. Even though White can ' "
’[.'hat 1s, if :Black plays one of capture two stones, his group : ‘.
these points, White will play the still only hias one eye. B G i
other, .
For Refererice -O 4
PROBLEM 122 If Black responds in |7 T i
l i - . the lower nght commer : A
t ‘ ‘ with 1, White takes the | - !
ko with 2, and Black [ i i
) ) 1= o - doesn’t have a Ko threat. : ' i
\ 18- e . There is a proverb that | i
| i ‘m ‘1 says: “There are no ko | __
| ; ' . threats in the beginning % Py :
Correct Answer Wrong Answer of the game.” Black’s -8 %;_ L @F@g .
Black i is on the point where If White is allowed to play position here is inferior |- )@y f—j—l—{~-t—|—|—t -\.—-— H~ e
White wants to make his second  -at 2, he cannot be killed, to the one'in the correct ﬁ()) i
eye, so White 1s dead. answer diagram. ‘ L
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e PROBLEM 124 PROBLEM 126
i§~ Correct Answer ——r G
~;Z 7 S’;airti_ng a ko with I I -B A D,
no is Whate’s best chance to L Al - b
i live. It gives White a light B “{jggg N 935@@
B and resilient shape, When A @ &
i Black takes the ko with _'& Q%_W
P 2, White can play moves . é Correct Answer Wrong Answer
| like A and B, ko threats : Starting a ko with Black | is Black 1 is a bad move, After
J{ which threaten to lead ‘ * § the correct answer, If White 2 White captures a stone with 2,
;:i{i the endangered white | ) at A, Black plays B, and it is still all of White’s stones are settled.
B stones out into the a ko. -
i center,
b | B0 PROBLEM 127
| f Wrong Answer ; - @‘ -OWMOE-
. : I \ O
L Connecting with 1 & {— 6\ @%
i leaves White with an un- : @* @ &-
L wieldy and heavy shape é Ot 8@
after Black 2. It is al- ‘ N
-most  impossible for : ¢
White’s stones to live, ! ‘ ——
Correct Answer Wrong Answer _
PROBLEM 125 The only way Black can live If Black connects at 1, White
in the corner is to create a ko destroys Black’s second eye with
with 1, White 2 starts the ko 2, Black is unconditionally dead,
fight.
Correct Answer B T _ PROBLEM 128
. Taking the ko Uelow
with Black 1 is bigger
than taking the ko
above,
Wrong Answer Correct Answer 7 Wrong Answer
; Taking the ko with 1 Black 1, followed by 3, is the rReversmg the order of moves
i here-is worth [ess than a correct way to start the ko ﬁght. with 1 and 3 here is d1sar}van~
f ' half " a pomnt. The ko ? Aftgr Whij:e 4, Black takes the tageous for Black_.»After_ White 4,
‘i : below, however, is worth : ko by playing 5 at 1, Black must lgok for a ko threat
almost 2 points. instead of taking the ko.

1

s
]

i
N
1
P
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PROBLEM 129

PROBLEM 132

{ Y

-

9
_f—

3

~ Correct Answer
Black should play 1. The life
of the black group now depends

on ‘which side wins the ko after
White 2.

Wrong Answer
Connecting the ko with I iets
White destroy Black’s eye shape
with 2, Black is dead.

PROBLEM 130

Correct Answer

Black 1 is the vitai point. If

White 2, Black 3. Black wins the
capturing race by one move,

Wrong Answer
Black 1 Jets White capture a
black stone with 2. The white
stones are now safe.

PROBLEM 131

9
‘Correct Answer

Blaqk 1 1s the vital point. Up
to 5, it is easy to see that Black
wins the capturing race by one

inove, If White 2 at 4, Black plays
3 at5.

N IRY e

1
Wrong Answer

) If Black plays i, White captures
three stones with 2 and 4. Black
has failed,

- 180 —

Correct Answer
Black 1 1s the vital pont. If
White 2, Black 3. There is no
way that White can save his four
stones.

u,@@é? T - L
B 3

e |
2% E
®OZLO
Wrong Answer
Biack 1| and 3 are bad moves.
White captures three stones with
2 and 4, :

PROBLEM 133

mﬂg%j
(90087
o
Correct Answer
Black 1 is the vital point.
After Black 3, White cannot at-
tack the two black stones in the

corner because of his shortage
of liberties,

T |
_‘l

].. ‘@I B
rﬁug | |

e
Cbrr‘ect Answer

Black 1, followed by 3, is the

correct sacrifice tactic. 1€ White

connects at 1 with 4, he loses

the captuning race by one move,

PROBLEM 134

Q;A
@@4
T9Y88
Wrong Answer
Any other move, like Black 1,

© will fail. White gives atari at the

vital point with 2 and catches
two black stones.

-

l
@ 4
ALl
2578
080 )

o0
-t -
Wrong Answer

Without the sacrifice, Black

foses the capturing race, as can be

seen from the sequence to
White 4.
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PROBLEM 135 ' 1

“"PROBLEM 138
OOBOOBO)-
uétg%®®8@ 82000 .
O OGOBOS -+ S PN CCt AN
OB S T- T : & 89
| geisiel > TOORMCCe |
| T 17

o

Continuation

i Correct Answer o
s The position is now a 3-point’

Giving atarn with 1 and then

h
5

V.

B
i

2
:

: extending to 3, sacrificing three nakade. While 5 and 7 win the CO"’”(?C{A”SWW 7 Wrong Answer 7
] stones, is the correct answer. capturing race by one move, _ Black 1, making an eye, 1s the If Black plays i, White will
L After Black takes three stones vital point. White has no way to play on the vital point of 2. The
ii e with 4 — attack, so Black has won the position is now a seki.
| - fight, T
i PROBLEM 136 i
1§ ; | : PROBLEM 139
i Cod e | STecls .
——Cé()%% @ --OC)O“;’% @1 & -9 =
T p OO g® 11 17058 e - e’ Y% & i
L (@12 @ -CBA6 & $ - _ SO@ IS — i
3 20 @020 : S -
Correct Answer Wrong Answer -
Black [ is correct. Black now If Black plays 1 here first, ie]—

easily wins the capturing race
with 3 and 5.

White exchanges 2 for Black
3 and Black loses the capturing
race,

PROBLEM 137

Correct Answer
Black 1 is the vital point If
White 2, the position is a 4-point
nakade, so Black has five liberties
to White’s four,

1

6@ X

.

i

Wrong Answer
Black | here makes it just a
3-pomnt nakade. In this case,
Black loses the capturing race by
two moves.

)

Fan
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Correct Answer
Black must give atari to the
pivotal white stones with 1. This
move guarantees-the capture of
all eight white stones.

PROBLEM 140

Correct Answer
Sacrificing a stone with Black
1 s the vital point. After 3,
Black wins the capturing race by
one move,

Wrong Answer
If Black captures three stones
with 1, White gives atari with 2,
catching the four black “stones
to the left. '

Wrong Answer
Playing at Black 1. first, allows
White to piay directly at 2 (in
the correct answer White can’t
play here). Black has failed,
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_ Correct Answer

Black i, followed by 3, is the
correct order of moves. After this,
~ Black wins the capturing race by
one move.

Wrong Answer.
Black 1 here fails. White 2 and
4 capture two black stones.

PROBLEM 142

1344
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Correct Answer

Attaciung at 1 is a brlliant
move, After Black 3, White’s
territory 1s devastated. If White 2
at 3, Black 3 at 2.

Y
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Wrong Answer
Black 1 makes only a small
dent in White’s territory. The
correct answer is more than 10
pomts better.

PROBLEM 143

|
{ 2)

HEREN
Correct Answer
.Black should sacrifice a stone
with | and then play atari with
3. White can’t connect, so Black
will capture two stones.

e

Wrong Answer
Giving atart with 1 immedi-
ately is bad. If you compare the
result to 5 with the correct

- answer, you will see that Black

has suffered a big loss,

—~184 —

Correct Answer
By linking up his isoiated stone

on the left to the stones on the
right with 1 and 3, Black can
make a big intrusion into White’s
territory.

Wrong Answer _
Black 1 1s a bad move. Com-

pared to the correct answer, Black
ias suffered a big loss.

PROBLEM 145

Correct Answer

Because, White’s two stones to

the ieft are short of liberties,White
must passively piay i.

Wrong Answer
If White piays 1 here, B_‘lack
cuts with 2 and White's {erritory
is greatly reduced in siZe.,

PROBLEM 146

Correct Answer

Since White's two stones at
the bottom ieft have an extra
liberty, in the case White can
give an atart at 1.

Wrong Answer

White 1 in this position 18

uncalled for. The result 103 15

two points less for White than
the correct answer.
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Correct Answer

Because White’s five stones are
short of liberties, White must
passively draw back to i.

__Q_@ @

— {XJ\ T
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g%t Al

Correct Answer

In this case, White’s five stones
have an extra liberty on the
outside, so White can aggressively

R 4 fhi-.

PROBLEM 147
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Wrong Answer
If White gives atari with 1,
Black cuts with 2, White 3 js
forced, and after 4 Black has
made a big intrusion into White’s
territory.

VPROBLEM 148

Wrong Answer
Black 2 is an overplay. White
can safely capture at 3 — Black
has no follow-up move,

give atari at i. In response, all
Black can do is to connect at 2.
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Correct Answer
Black 1 and 3 are
sente moves which are
worth 4 points in totai.
This 15 much bigger than
capturing the lone white
stone on the left.

Wrong Answer

Catching the white
stone with Black i is
worth only 3 points in
gote. White can now
play 2 and 4 on the
right, reducing Black’s
territory by 2 points
and expanding his own
by 2 points (4 points in
total).

‘Correct Answer
Black 1 and 3 are
worth 2 points in gote,
These moves are bigger
than playing in the
lower left comer,

Wrong Answer
Black 1 is worth only
I point in gote, White 2
and 4 are 1 point bigger,
so Black has suffered a
loss,

PROBLEM 149
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PROBLEM 152

PROBLEM 151
Correct Answer
The diagonal move of -
Black i 18 the correct
. answer, This move both
1’5 - 3 defends the comer and
attacks the two white
3 stones aiong the side.
P ;
Correct Answer
When two cormner en- S .
closures face each other, ' Wrong Answer
?’rlxe mldpomltl between g T Altiiough Black | here
em 15 usually the big- T - strongly defends the cor- -
gest pont. The;‘eforfe, _ ¥ ner, it doesn’t put much |
orf the three choices in pressure on White's posi- !
the. problem, Black atC T s tion along the side
is the best point to piay. < ¢ .
el
il
- : Ho
W L oemi a o %
Correct Answer c
3 In this shape, Black F \
B - 1 1 is the usual move. L
For Reference : ) - ;" Black A is also correct. f i\
Comparing the points |~ A T S Ci— g
A and B, B is better than ' R Y I B S i 1\ " ‘1 i s
RNt AR E L R ke
can aiun at plé ’in the Black 135 overly ae Ll l L i L !
tension to y*a’g Ir fenstve. It rlosesrt_erritory, T T T BEREEN |
L 1, 1| so Black is a bit dissat- \ T RN i
Black were to play at isfied 14l '“@ ' ' L{l,} ’ iJ :
A e would not have B A 1sﬁeq. In special cases, ‘k " j\ | el T 1 ll
a‘odfll ) i | Black A or B may be . | IR NEEE
good follow-up move, | ] a good move. f,s BEEEEEERENE
R
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PROBLEM 154 PROBLEM 156
O @ - 1-O- @ Correct Answer
Correct Answer et ~¢ - Black must play at 1.
White should make a -~ | b —t— bl b Lo L Lo T Not only is this a big
two-space extension to S A AU Y S N ) B move terriforially, but,
I. This move stabilizes |— - -] most important, it aiso
his two stones at the {— 11—t N D S A e attacks the two white
top. B el B e e e Sl s stones,
Wrong Answer } [
White 1 here provokes ) N T ‘ .
Black 2. Now Whites OTO @1 %@ ' Wrong Answer ‘
stone on the right is O ERERER L N Black ! 1s bad, White
weak  while  Black’s | [ 11T rTrrirTr slides into the corner
stones on the left and . REEE - with 2, stabilizing his
nght are strong, White’s REN {_ T stones. Black has lost
result is unsatisfactory. HREN B 11T both territory and a
! L A target to attack,

PROBLEM 155
PROBLEM 157
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Correct Answer
Black should tum at TS T T Y T U O T ; Correct Arzswerl
1, reducing the number e e ] Cos e A S S ol umping out to 1 is
of liberties of White’s OO+ e the vital point. This O
three stones to the left :g%g@ move makes Black’s two @
of I. This move also 3 ‘ — 1 : stones strong and leaves
expands Black’s frame- |[< g)@ -@ | @ White with two weak &w()
work on the right. This o B R Tl it e e : groups, *C}
1s an essential move, ‘ - - ‘
B T Wrong Answer ‘IP
Wrong Answer - N s Defending the left
If White is allowed to @}%%% side with 1 lets White ¢ Q
: ; K's . o 7T g ' cap with 2, severely at-
ﬁldrie::ct%nlill'?:iisgjie\‘ﬁil -%@@ tagking the two liack & -
pment ght will (OO0 & @ ¢ o th : .
be restricted while White @ O %IOHGS 1n lde center. 'O,
can freely develop at — ack  should be un-
the top. : happy with this result.
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PROBLEM 158
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Correct Answer

Black 1 1s the only move that
prevents White from captunng
Black’s four stones. If White 2,
Black 3 wins the captunng race
on the I;cft side.

K

Correct Answer
Sacrificing a stone with 1 is
the vital point. After White takes
with 2, Black 3 will capture the
four white stones,

PROBLEM 159
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Wrong Answer
Black 1 fails. White sacrifices
a stone with 2 and traps Black
with the atari of 4,

Wrong Answer
Black 1 and 3 fail. After 4,
White wins the capturing race by

~ one move,

Lot PROBLEM 160

Lose 8 5
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R
Correct Answer

Cutting at Black 1 is the vital
peint. 1f White connects at 2, he
cannot save his four stones after
Black descends to 3,

_QQ .

[T 1]
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: Wrong Answer

Black is able to capture one
stone with 1 and 3, but when
White connects at 2, the four

-black stones above cannot link

up to the ones below,

~192 -
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Correct Answer

If White sacrifices a stone by”

playing 1 and 3, the black stones
will die.

PROBLEM 162

|
Correct Answer

White i is the vital point.
After White 3, there is no way
Black can rescue his five endan-

gered stones,

PROBLEM 161
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Wrong Answer o

If White connects at 1, Black

will capture a stone with 2.
White has suffered a big loss.

Wrong Answer 7

If White connects at 1, Black

can capture the three wiute
stones any time hie chooses.

PROBLEM 163
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Correct Answer A Wrong Answer ; b

The sequence to Black 5 _Excllangl.ng Biz}ck 1 for White L
catches the four white stones 2 s b_ad.rAll the Dblack stones are i
in question. now dead. i




PROBLEM 164

RN

8267
Correct Answer
Black 1 and 3 can capture four
white stones in a snapback. If
White 2 at 3, Black plays 3 at 2.

i

-\
I i
1

ll’rong A nswer
Black 1 allows White to con-
nect at 2. 1t 1s now impossible to
capture the white stones, so
seven black ones will die,

PROBLEM 165

Correct A nswer
Black 1 catches two white
stones. The two black groups are
now linked up,

RN
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Wrong A nswer
Although Black i and 3 capture
a stone, Black ends up with four
stones drifting without eyes in
the center of the board,

i
1

PROBLEM 166
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Black | is an excellent move.
If White 2, Black can play at 3
and because of ashortage of liber-
ties, White can’t give atari. So the
51X white stones below are dead.
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Wrong Answer
If Black plays at 1, White links
up underneath wiih 2. If Black 1
at 2, White gives atari at [,
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PROBLEM 167

.
Correct Answer
Black 1 is a superb move that
allows Black to link up his stones
on the right with those on the left,

[ree ree

)
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Wrong Answer
Taking a stone with 1 and 3 is

answered by White 2 and 4. The
black stones in the corner are i
now isolated:and dead.

PROBLEM 68

Correct Answer
Black 1 prevents White from
rescuing his two stones in atar,
s0o Black will be able to capture
them on the next move.
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Correct Answer
Black [ is the move that
keeps the three white stones
below separated from the ones
above, These stones are now dead.

PROBLEM 169
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Wrong Answer
Capturing immediately with 1"
here lets White block at 2. Rlack
can no longer link wp, so his
stones on the right are dead,

L
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Wrong Answer

If Black plays I, White secures

a connection to his stones above
with 2. Black has failed.

voe,

IHHI
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_ Correct Answer
. Black 1 is the vital point.
Vl]jte 2 1s answered by Black 3
vhite has no follow-up and sc;
he seven white stones are dead.

I ! )

. Continuation
Wh_lte gives atari with 4 and 6,
atching s1x black stones and res-

uing his own seven stones in the
rocess.

PROBLEM 170

| T |

!}’rorzg Answer 1
Ilt Bl?gk plays at i, White gives
atari with 2 and after Black 3 —

| |

AT
_ qungAnswer 2
: Black .1 here also fails. White
gives double atan with 2 and it is
now impaossible to prevent White
from linking up.

PROBLEM 171
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Correct A nswer
Rlack 1 1s the vital point. No
utter how White plays, one of

Hs  two-stone groups will be
aptured,

i
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For Reference 1
If_ White gives atan with 2
Black descends to 3 and Whitc;
still can’t prevent the capture of
his two-stone group above.

}
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PROBLEM 171 (Contmued

For Reference 2
If White 2, Black 3 cafches
the two white stones on the ieft.
White can’t connect because of
a shortage of liberties.

Ma «%

Aat

Wrong Answer
Black i and 3 iead nowhere..

After 4, White’s bottom territory
is impregnable.

PROBLEM 172

Co; rect Answer
Cutting with Black 1 1s the
vitai point. If White exchanges
7 for 3, the six white stones
above will die.

Wrorig Answer
Black | and 3 will capture

three white stones, but all the
biack stones below are dead.

PROBLEM 173

Correct Answer |
Black i is the vitai point. If
White piays 2, Black captures at
3. Alternatively, if White 2 at 3,
Black 3 at 2. Either way, the
four pivotal black stones escape.

Wrong Answer
Capturing with Black 1 lets
White take the vital pomnt at 2.
The four pivotal black stones axe
now unable to escape.
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PROBLEM 176
PROBLEM 174

. | i
Correct Answer e ¢ . $
Bilack 1 1s the most | i ot o 1| Yo
profitable way to play, - Y- N . j_g&@ };- g géc’j | gtw | e
When White connects at —-OO8y- : ﬁ(}()ﬂ _ ' : _@Q @ ﬁ \f} W e
2, Black 3 secures the - & NN N @w() : ' LD L ) 7
:gl;ltory along the bot- | —i—— il o e o i — = Correct Answer Wrong Auswer
’ ‘ White | may be a small point, White 1 allows Black to piay
but it is an essential move. When 2. White's stones now lack
| Black defends with 2, White - stability and can be easily
I oy P fex : . e
Wrong Answer ¢@@% -1 stabilizes his position with 3. attacked.
Going after the two |77 | 17| @ AR - PR 2
white stones with | re- |~ - 'é( X )@Q' N - PROBLEM 177
%L;lfs 1’nwa big loss for _"gg' —“gg([v(\&%(')fjc ‘ | !
. Whi ' —-C 2~ N s - !
a}c{: hxtre 2 and. 4{ @- (‘Dé' i @%8_ ¢V 6@“@@%
make a deep intrusionin- | _ - OO0 '\@%X@Q)OO@--
to Black’s potential area. Q : QQ’
| C}} -
A
PROBLEM 175 Correct Answer Wrong Answer

Black must move out along
the side by jumping to [, He
cannot let his stones be confined

Black I, 3 and 5 are too slow.
Up to 6, White builds thickness
mn the center. Black’s result is

C‘qrrect Answer &- q@;“ - - to the corner. inferior to the correct answer,
‘Taking the corner BN A “%“’$>._{‘ — :
with Black L is the stan- - P PROBLEM 178
dard move in this posi- N

tion. Black’'s position ;s ‘ :
now absolutely secure, B B N

e
@

& ? ’

3 O 8o f} O+
Wrong Answer | é_m ::8$%g§; T %%O%@}“ @_ A o

. Black 1 here is overly -&9 O A@@} Q @ N :

. defensive, After the ex- w,_@o i @ @ -
;2;1:1:;&?6{ 2dfor g Black /J\O Correct Answer Wrong Answer
B 1 1‘:« Aa: 1g loss. ) Black [ is the vital point for If Black neglects to reinforce
P ac ta 15 also in- making good shape. Reinforcing his stones, White will attack with
erior to the correct weak points with moves like | 2 and 4, putting Black’s stones in -
answer. 1 important, great danger.
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PROBLEM 179
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Correct Answer
White [ threatens to capture
two black stones in a snapback,
<o Black must connect at 2. After
White 3, Black is aimost captured.

REEREEES S
Wrong Answer
White 1 lets Blaci easily escape
with 2 and 4. Sacrificing a stone
by playing 1 at A, and then
giving atari at 2 after Black B,
aiso lets Black escape.

PROBLEM 180
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Correct Answer
Rlack i is the vital point. After

White 2, Black 3 catches the four
white stones on the 1eft,

NOOOBO
Y%
Wrong Answer
In response to Black I, White
connects at 2. Black has no fol-
low-up, so Black i wiil be cap-
tured.
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PROBLEM 181
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Correct Answer

Extending out fo 1 is the.cor-

rect move. If White next plays A,

Black piays B. The territory at
the top is firmly in Black’s grasp.
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Wrong Answer
Black 1 is overly defensive.
White 2 confines Black to the

“comer. This result is vastly in-

ferior to the correct answer.
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Correct Answer
Black should play at i. If White
2, Black connects at 3. Black nas
an overwheiming advantage in
this iocal situation. if White 2 at
3, Black takes at 2 for a good
result,

Wrong Answer
1f Black 1, White extends to
2, catching a black stone. White’s
position is intact. Black has faled.

PROBLEM 183

Correét Answer

Biack 1 15 the correct answer.
Even if White can live in the
comet, there is no other way but
to connect against a peep.

Wrong Answer

Black 1 1s bad., After White 2,

the black stone in the comner 15

nearly dead, Black 1 at A'ls also

answered by White 2. Agan,
Black’s result 1s not good.

PROBLEM 184

Correct Answer
In a position like this, making
a ‘bamboo joint’ with 1 is the
usual way to make sure the white
stone doesn’t escape.

Wrong Answer
Depending on the situation,
Black 1 is aiso a possible move.
However, Black 1 at A is almost
always infenor.
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PROBLEM 185
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Correct Answer
Extending to White | is the
standard response in this situ-
ation. It follows the proverb,
“extend against a. hane” (Black
1 in the problem diagram).

GOOBO

. ﬁ(} —_
Wrong Answer
White | here is an overplay,
White suffers a big loss when
Black catches the two stones on
the left with 2 and 4. White | at
2 is also an inferior move,

PROBLEM 186
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Correct Answer

Black 1 is the correct response.
If White 2, Black stops White's
intrusion with 3.
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Wrong Answer
The responscs from A to D
are all inferior to the correct
answer.

PROBLEM 187
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Correct Answer
Giving atari at | is the only
move: 1t forces Black to make

bad shape, Next, White connects
solidly at 3,
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Wrong Answer
White 1 lacks power. Black
fixes up his shape with 2, form-
ing territory at the top.
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Correct Answer -
Even though White

loses a stone, White has
no choice but to link

up along the bottom
with 1.

Wrong Answer
If White connects
with 1, Black 2 and 4
cut his stones off from
the outside. This is a
big loss for White.

Correct Answer
Black 1 is the rignt
way to give atari. White’s
efforts. to escape are
futile as the sequence to
Black 5§ demonstrates.

Wrong Answer
Black 1 and 3 throw
away two stones for
nothing. Black has suf-
fered a big loss.
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PROBLEM 188
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PROBLEM 189
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Whit'e snould give atari with I,
sacrificing a stone, .If Black cap-

tures with 2, White gives double

atar1 with 3 and —
1

&1
o @@g
éggx% O

[ |1
Wrong A nswer
Defending against the atari
with 1 {ets Black extend to 2.
White’s shape has been destroyed
and he’s at aserious disadvantage.
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PROBLEM 190
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Continuation

Black - 4 1s forced, Finally,
White connects at 5, giving his
stones excellent shape,

.
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( Continuation

The sequence to Black 6 is
forced, buf there is no doubt that
Black has ended up with an ad-
vantageous position.

PROBLEM 191

1
Correct Answer
If Black plays at 1, the three
white stones in the corner are
‘lost. 2 18 the best move for White,
at which point Black wraps up
the comer with 3.

Wrong Answer

in response to Black 1, White
will play 2 and all his stones are
linked up. Expecting White to

- answer 1 at A 1s just wishful

thinking,

— 204 —
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Correct Answer
White 1 is the correct
response, 1f Black 2,
White links up his two
groups with 3.

Wrong Answer A

Cutting with White 1

is unreasonable. After

Black 2 and 4, the two

white stones to thé& le;ft

are dead and White's
position is shattered.

Correct Answer
Invading with Black i
is the correct answer,
No tmatter how White
piays after this it cannot
be bad for Black.

Wrong Answer

Black 1 is a bad move.
White is helped to make
the move he ‘wants. An
invasion is now im-
possible, 1t would have
peen better for Black not
to have played here at
all.
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PROBLEM 192
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Correct Answer’

There is only one way for

White to play: link up his stones
with I,

@

PROBLEM 194

JRaRERas:
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Wrong Answer

Jumping out into the center
with I lets Black play 2. White’s
position is now split into two
groups, so he s at a disadvan-
tage.
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PROBLEM 195
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Correct Answer
Sacrificing two stones with

White | is the correct answer.

This is a very important tactic

that all beginners must leamn,

White next ataris with 3 —

%%“j

/¥m

Wrong Answer I
If- White simply gives atari
at 1, Black takes a stone at 2
and White A is no longer a forc-
ing move.

Lo HHSH

Continuation
White continues by sgueezing
White with 5 and 7. Black 1s con-
fined to the corner and White
builds & wuall on the ouiside
without any defecis,

1&1

Wrong Answer 2
White 1 here is also . bad.
After Black 2, White A joses
its effect.
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PROBLEM 196
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Correct Answer Continuation

Giving atari with White 1 1s
the vital point. After Black 2,
White connects with 3, separat-
ing Black into two groups. Next —
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Wrong Answer 1
White | here is a mistake. After
Black 2, it is impossible to separ-

ate the black stone on the right
from the others.

Black must play 4 and 6 to
live. With the black stone on the
right isolated and  weakened,
White has made a big gain,
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Wrong Answer 2
White | is also bad. Black gives
atari with 2 and then gives an-
other atari with 4. This is a b]g
loss for White.

PROBLEM 197
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Correct Answer

Black can capture three stones
altogether. First of all, Black

takes two stones with 1. Next — -
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Continuation
To maintain the seki, White
must play at 2, so Black can
capture another stone with.3.
It 1s usual to make these captures
at the very end of the game.
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PROBLEM 198
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ConectAnswer W Contintlation = %

The position is not a seki!
Black’s inside space is bigger than
White”s inside space. Black starts
by capturing tiwree stones witl 1,
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Cbr‘rect Answer
B]__ack 1 18 the vital point for
making life with a seki,

If White 2, Black gives atari
with_ 3 and after White 4, gives
a_notller atari with 5 (played to
the ieft of 4). From here it is
easy to see that Black wins
the capturing race.

PROBLEM 199
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Wrong Answer

If Black gives atari to three
stones with 1, White connects
at 2, making a 5-point nakade,
which is a dead shape for Black.

PROBLEM 200
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_ Correct Answer
Black | 1s the vital point, If
- White 2, Black 3 creates a seki,
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_ qungAnswer
Black 1 is a mistake. White

‘exchanges 2 for 3 and Black

cannot get a seki.
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Corr ect Answer
Black 1 and 3 create a-seki.
White cannot attack the two
black stones in the corner because
of a shortage of liberties. Both
sides are left with O points.

If Whife Plays First

If it were White's turn to play,

he would play a move like i in

the corner. His territory there 15

5 points, so this move is worth
5 points.

PROBLEM 202
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Correct Answer
‘Black i is the vitai point. The
sequence to Black 3 results in

a seki, If White 2 at 3, Black
plays 3 at 2 and it isstill a seki.

Wrong Answer
If Black piays at i, after 4
it is not a seki; it results in the
death of the black group. White
can make the ‘bent four in the
corner’ shape by playing above 4.

PROBLEM 203
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Correcr Answer
Black must-play 1 followed by
3. This order of moves is impor-
tant, Because of .a shortage of
liberties, White cannot make
two eyes.

Wrong Answer
If Black piays 1 first, White
gets two eyes by playing 2 and 4,
If Black 3 at 4, White 4 at 3 also
gives lam two eyes,
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PROBLEM 204
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Correct Answer

Black 1 is the vital point. Black
15 now guaranteed of getting at
least one eye at the top.
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Wrong Answer
Black | lets White play at 2.
It is now impossible for Black
to get another eye at the top,
50 he i1s dead,

PROBLEM 205
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Correct Answer
Black ! and 3 kill the white
group,
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Wrong Answer

Black 1 is a mistake., White is
able to live with 2 and 4,

PROBLEM 206

Correct Answer
Sacrificing a stone with 1 and
then giving atari with 3 are the
moves that Kill the white group.

Wrong Answer
Giving atan with Black 1 lets
White play at 2, giving him two
eyes and life,
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PROBLEM 207 |
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Correct Answer Wrong Answer

Black 1 is the point of attack.
If White tries to make an eye at
2, Black 3 catches two stones in -

If Black 1, White 2, Or if
Black 1 at 2, White 2 at \1. In
either case, White is alive, so

a snapback, killing White in the . Black has failed. .

PTOCEss, *

PROBLEM 2038
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Wrong Answer

Black [ is the vital point. If Black 1 here fails when White
White 2, Black descends to 3 and plays 2 and 4. Because of a short-
lives, age of liberties, Black cannot
make a second eye.

Correct Answer

. PROBLEM 209
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Correct Answer Wrong Answer
Giving atari to the white stone Black 1, giving atari from

from below gives Black two eyes above, fails. White descends to 2

and life, and, because of a shortage of lib-
erties, Black cannot block the
escape of the two white stones.
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Correct A ' g
nswer Wrong Answer

Black I is the vital pomt of
attack, If White 2, Black 3 leaves
White without sufficient room to
make two eyes.

BIat_;k 1 does not go deep
enough. After 2, White has the
space to make two eyes.

PROBLEM 211
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Correct Answer
_ W‘!_}ite [ 15 the vital point of
attack. 1f Black 2, White 3 makes
Black’s second eye a false one, so
Black 1s dead.

7 Wrong Answer

White 1 fails. After Black 2,

White loses a stone, so Black
gets two eyes and life,

PROBLEM 212
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_ Correct Answer
Black 1 followed by 3 is the

_cor_rect order of moves, White
1s dead.
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B/('ong Answer
Black I 1s a vital point, but it

1s not played i the proper order.

W_hite. gets two eyes and life.
when he plays at 2. E
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Correct Answer
Black 1 is the vital point for
killing the white group. Since
Black 1 cannot be separated
from his other stones, White
js ieft with oniy one eye.

Wrong Answer

1f Black gives atarl with 1,
White sacrifices two stones with
2. After Black captures with 3,
White retakes to the right of
3, leaving him with two eyes,

PROBLEM 214
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Correct Answer
Black 1 is the vitai point for
killing the white group. After
the sequence to Black 5, the eye
to the ieft of 4 becomes a false
one, so White 15 dead.
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Wrong Answer 7
Black 1 here fails. When White
plays at 2, he gets two real eyces.

PROBLEM 215

Biack 1: creates a ko. The life
of the black and white stones
* ed. by .

.“!2 l’ !il

For Reference

If White plays at 2 in response
to 1, Black plays at 3 and it 18
still a ko.
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PROBLEM 216

Correct Answer
If Black plays at 1, it becomes
a ko with the sequence to White
4, The outcome of this ko deter-
mines the life or death of the
white stones.

~ If Black plays at 1, the three
black stones at the i{op nght
will be unconditionally captured
after White 2.

PROBLEM 217

PROBLEM 219

Correct Answer
Sacrificing a stone with Black
[ is a clever move, If White
takes with 2, Black gives atari
with 3 and wins the capturing
race by one move.
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Wrong Answer

If Black simply plays at '},
White connects at 2, It is now
Black who loses the .capturing
race by one move.
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Correct Answer
Black [ 1s the wvital point for
starting a ko, After White 4, the
life of the white group will be
decided by this ko.

Wrong Answer
Black 1 here fails, After White
4, the black stones at the boitom
edge will be captured, allowing
White to make {wo eyes,

PROBLEM 218
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Correct Answer
Sacrificing a stone with 1 is
the vital point for making a ko,
White must destroy Black’s eye
shape with 4, so Black retakes
the ko with 5 at i, If Black wins
this ko, his stones live,

Black can also get a ko by play-
ing at 1, but after White 4 he
must look for a ko threat, so he
has suffered a slight {oss.
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PROBLEM 220
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Correct Answer
Black 1 is the vital point. White
struggles with 2 and 4, but after
5 it is clear that Black wins the
captiuring race by one move.
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Wrong Answer

Black 1 is too slow. In a cap-
turing race it is usually necessary
to make contact plays. White
plays at 2 and has three liberties
to Black’s two.

PROBLEM 221

Black 1 is the move. If White 2,
Black catches White in a snapback
with 3. If White 2 at 3, Black
gives atari with 3 at 2.
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Wrong Answer
Black 1 and 3 do not work.
White answers with 2 and 4.
Black loses the capturing race

because White has an eye, while
Black doesn’t. ‘
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PROBLEM 222
g fu ). }
e ERaERnnr s
6% EEaRaoe 2
i (‘T}f @ (- LS
109 PG50
Correct Answer Wrong A nswggka)

Black 1s the correct answer.
After the sequence to 5, it is
casy to see that Black wins the
capturing race by one move.

g‘o rrect Answer

Black "i:is the move. If White

connects at 2, Black plays at 3

and White cannot attack the

black_ stones to the jeft because
of a shortage of liberties.

Black 1 and 3 do not work.

- The sequence to White 8 resuits

in a ko.

PROBLEM 223
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Wrong dnswer

If Black piays at }, White
can destroy Black’s eye with
2 and 4: The situation has
become a ko, so Black has failed,

PROBLEM 224
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Correct Answer Y If'Vrong Ans;}er‘

‘ I}iack I is a brilliant move. If
's?flute 2, Black 3 and Black wins
the capturing race.

Giving atari with Black | fails.

White piays 2 and 4 and wins the
capturing race by one move.
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Correct Answer
White 1 is the vital point. White
now wins the capturing race by
one move as illustrated in the
next two diagrams,

L@k

Continuation
The race continues, buf after
White i1 it is easy to see that
Black ioses the capturing race by
ofie mave,

L- @:‘,\ @@ %L
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Continuation
From Black 2 to Black 6, Hoth
sides fill in the other’s liberties.
White then captures four stones
with 7. Next —

Wrong Answer
If White starts to fill the out-
side liberties with 1, Black hits
the vital point with 2. Whiie now
joses the capturing race by itwo
moves.

PROBLEM 226
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Correct Answer
Giving atari with Black 1 ig the
vital point. 1f White connects at 2,
Black catches six stones with 3.

Actually, ‘White 2 should have

have been played at 3.

Wrong Answer
Black i hasno follow-up move.

White simpiy plays 2 and all Tus

stones are safe.
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| PROBLEM 229
PROBLEM 227 : ' E o I | . L |
Correct Answer ] . - _&%ﬂ% N Mé&ﬁ_@f NN
. SWe _ ; : @+O -G O+0O
Giving atari with | is 1 T ; o @Q ) ( & —O
the vital point, If White ; : &1 b i & bd
connects at 2 (not the &+ /l) & ”T)(“ —
LA LA
best move, as he should VOB LG D G i (61210 2 J
give up these stones), Vo re | 1 41016 .
Black 3_ will capture ?éggq} “*(P . ,)2 —t— | Correct Answer If Black Plays First
seven white stones, &OOO}“} | %W & White 1 is the best endgame If it were Black’s turn, Black
o move in thissituation, After Black would also make a diagonal move,
defends at 2, White 3 makes a peeping into White's territory. In
Correct Answe_r 2 further reduction in Black's terri-- conclusion, whichever side gets to
Black 1 nere will also tory while retaining sente, play first will make a big profit.
capture the four white :
stones at the edge. If g ‘ PROBLEM 230
White 2, Black gives atari o's g o -
with 3 and White cannot $~_g“2 <2E>‘-) Jgg@ . A ﬁaﬁ@ N ?ﬁﬁg
defc?d bgfl:%use; of a -@O ,0(;.%} OO+ Ly .Q{L)Ai G- *‘C}‘J T \Q
shortage of liberties, @OQ @ S5 i : L .(J)CBKD XJ)QS@ g é(), (j()d)%;@
PROBLEM 228 | ; o5 9 @ b @ ? -
T3 i 1 1
Correct Answer Wrong Answer
' é NN i Because White’s three stones Black I and 3 are answered by
b Correct Answer o @ “("2% 5 to the right are short of liberties, White 2 and 4. This result is more
i Black 1 and 3 are the @ WWWO%* Q) L White 2 is the oniy response, If than ten points worse for Black
3 endgame moves in this ot Ty White 2 at 3, Black will piay at A. than the correct answer,
situation. For Black to N OO0 » _
i play here first is worth o Y - PROBLEM 231
more than ten points. Do
Y t Yy
g e e
by
HDG | OGO--& OSSO QBH--©
If White Plays First @ - ;!; A( ¥ i 80@8@3? @“' 'KDO@SW@;? @
. If it were White's turn &6 @@QO 1 C[) Q @ Q%,@(z, N
to play, either White | : W%OQA “ _ {0 800®
or the sequence White A OO N @ Correct Answer - - Wrong Answer
— Blalck B‘—- W}nte l;is OO There 15 no other move but Black 1 1s unreasonable, After
Ll correct, This gives White Bilack 1. After this White can in- White 2 and 4, Black can't defend
¢ a profit of more than : | trude no farther into Black’s his stones at 1 and 3, so White has
:‘ ten points, . territory, devastated Black’s territory.
7 —~ 218 — - 219
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Correct Answer
Black 1 is the vital point for

1aking eyes. Black can now make

is second eye either at 3 or at 2.
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Wrong Answer
1f Black makes any other move,

like 1, White kills im by taking
the vital point of 2.

PROBLEM 233

@&'
vel

S
Correct Answer

Playing at 1 guarantees Black
two eyes and life.
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Wrong Answer
Black 1 fails. White 2 and 4

create a ko.

PROBLEM 234

Correct Answer

Black i 1s the vital point for
making two eyes and life,
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Correct Answer

Black 1 1s the right way to stop
the white stone from escaping.

Black is now alive with two eyes.

PROBLEM 235
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Wrong Answer
Black 1 fails since White 2
destroys Black’s second eye.
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Wrong Answer
Directly capturing with 1 fails,
‘White 2 makes the eye below 1
a false one, so Black 1s dead.
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Wrong Answer :
1f Black gives atari at |, White
plays at 1 and reduces Black to

one gye.

Correct Answer 7
Black 1 will capture 2 wnite
stone and al the same time give
Black life.

PROBLEM 237
| I

Wrong Answer
If Black plays 1, after White 2
Black can’t defend his two stones
because of a shortage of jiberties.

Correct Answer
Giving atariwith Black 1 catches
the white stone and gives Black
{wo eyes.

PROBLEM 238

Wrong Answer _
if Black plays 1, White 2 and 4
destroy Black’s eye on the right.

1 i .
Correct Answer o
Taking a stone with Black 1

gives Black two eyes and life.

PROBLEM 239
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Wrong Answer 7
Black i lets White play 2. Black
is now reduced to one ¢ye.

Correct Answer _
i gives Black two eyes. White
at ‘a’ would be an illegal move.
| Po—221 -
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PROBLEM 240
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Correct Answer

If Black plays at I, he will get
his second eye two spaces to the

right of I.

Correct Answer

! gives White two eves, No
matter how Black attacks now,

he cannot kill White
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C'orrect Answer

White | makes another eye on

the night, so White lives.
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Correct Answer

White 1 guarantees that White

will get two eyes,
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Wrong Answer

If Black plays 1 here, White 2

will leave Black with one real eye
and two faise ones,

PROBLEM 241
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For R eference
White cun also live with 1 here,
bui this move 15 at least two
points less profitable,

PROBLEM 242

s
Rag o Rse:

Wrong Answer
If White 1 here, Black 2 and 4
leave White with only one eye.

PROBLEM 243
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For Reference

Compared to the correct ans-

wer, White 1 is worth a point less.

- 222 —

e e
b®$w§$:

[ B
Correct Answer

Black 1 catches three stones
and ensures that the final shape
will become two eyes,

" T T
Wrong Answer

Black 1 is answered by White
2. Black 1s now left with a dead
4-point nakade shape,

PROBLEM 245

(IX“Q e

@(
% I
Correct Answer

Black | catches a white stone,
giving Black two eyes and life.
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Correcr Answer
Black | makesan eye above and

also stops the two white stones
below from escaping,
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Correct Answer ~— —

sBlack | is a stmple move which
directly makes two eyes.

Wrong Answer
If Black 1, White kills Black
by playing 2 and 4,

| . PROBLEM 246

Wrong Answer
If Black directly captures with.
i, White 2 makes a 3-point nakade -

shape, so Black is dead.
PROBLEM 247

Wrong Answer
If Black plays |, White 2 and 4

reduce Black to one eye,
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FROBLEM 248
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Correct Answer

Black 1 makes two eyes, If

'hite 2, Black 3. If White 2 at 3,
lack 3 at 2 catches two stones,

Correct Answer
If Black sacrifices a stone with

, after' 2, Black 3 traps two
Ones.

Correct Answer
White | makes an eye, The en-
angered black stone can’t escape,
» White lives unconditionally.
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Correct Answer

White 1 1s a superb move, Black

aw’t capture because of a snap-
ack, so White lives.

Wrong Answer
Giving atanni with | destroys
Black’s only chance of making

two eyes, Black is now dead.
PROBLEM 249
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Wrong Answer

Black I is answered by White
2. Black has no follow-up move,

80 he is dead.

PROBLEM 250
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Wrong Answer

Capftlﬁng a stone with White
-l is answered by Black 2. White
lives only if he can win tle ko,

PROBLEM 251
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Wrong Answer

R

Capturing two stones directly
with 1 fails. Black ? catchestwo
stones, so White dies.

- 224 —

Correct Answer

WEss § oopicas 1t copossible
for the three black sionds 10 €%
cape, so Whate gets two eyes.

Hrong answeT

White 1 results wn the death o_t
3Tl The wmoid ASID e lda RN

retakes to the leit of 1 with 2.

PROBLEM 253

If Black piays i, he can make

his second eye at either 2 or 3,
depending on where White plays.

|
T
Wrong Answer

1f Black captures a stone with
i, White 2 leaves Blaci; with only
one real eye, so Black 1s dead.

PROBLEM 254

Correct Answer
If Biack plays 1, he wi]_l_capture
two stones with 3, making two

eyes.
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Wrong Answer

Capturing two stones with 1
fails. White recaptures with 2, at
the point below 1, leaving Bla_ck
with a dead 4-point nakade shape.
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Correct Answer
Black 1 lets White captures two

of his stones, but this secures the
point below | as his second eye.

PROBLEM 255
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Wrong Answer
If Black connects at I, White
plays at 2, Thisstone can’t be cap-
tured because of a shortage of
liberties, so Black dies.

PROBLEM 256
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Correct Answer
Black must play ] and not take
the four white stones, After this
move, if he then takes those
stones, the resulting shape is a
4-point shape that lives,
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Wrong Answer
If Black immediately takes
with 1, after White 2, Black is
left with a dead 3-point nakade
shape,

PROBLEM 257
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Correct Answer
Black 1 is the vital point for
making eyve shape. Black is now
alive. ‘

Wrong Answer
If Black plays any other point,
his group dies, For example, if
Black 1, White 2 kills Black.
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Correct Answer Wrong Answer _
Black 1 1s the vital point for Black 1 Jets White make s
making eye shape. However White S-point nakade. After. White

plays, Black will get two eyes. plays 2, Black diess

PROBLEM 259
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Correct Answer Wrong Answer }

1 makes room for  Black’s Black | is not wide enough,

second eye, If White 2, Black White plays 2 and Black can oniy
3 makes a second eye. get a false eye,

PROBLEM 260
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Correct Answer
Black i 1s the only miove that
gives Black two eyes and life,

PROBLEM 261

*

Wroug Answer
If Black plays 1, White 2 kills _
the black stones,

i

Wrong Answer
If Black 1, White 2 prevents
Black from getting a second eye.

~ 227 — | -

Correct Answer
1 gives Black the space he
needs to make two eyes.
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Correct Answer
Black | is the correct answer.
Up to 3, Black gets two eyes.
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PROBLEM 263
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qurect Answer
Black I is a quiet move which
guarantees two eyes for Black.

PROBLEM 264
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Correct Answer

B];qk i guarantees an eye on
the right, so Black lives.
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_ CorrectAnswer

Black | makes room for eyes
m fche corner. With 3, Black will
easily get two eyes.

1
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Wrong Answer

If_Black plays 1, White 2 makes
Black’s second eye faise,

Wron_g Answer
If Black gives atari with 1,
White 2 gives Black a faise eye.
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‘ Wrong Answer
lrf Black takes with 1, White 2
. and 4 destroy Black’s second eye,

L
Wrong Answer

Black 1 is the wrong direction.

White 2 and 4 kill the black
group.

v

Cormsdi Aninir
Black i makes an eye 1o the
ieft and ensures the capture of
the ione white stone above, SO
Black gets two eyes and life.

Correct Answer

Black secures the capture of

a white stone, so Black gets his
second eye at the bottom,

g A

1f Black capiures with | JWhate
7 robs Black of his second ¢Y¥e,
<o his stones are dead.

PROBLEM 267

Wrong Answer
Black 1 just puts himself into
atarl, White captures four stoncs

with 2,
are dead,

so all the biack stones

PROBLEM 268

Correct Answer

Dlack i is the vitai point of

the 5-point nakade shape. White

cannot make two eyes and so he
is dead.

Wrong Answer

Any other move, like Black 1

here, would allow White to live
with two eyes.
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" Correct Answer H": ang Answer
Black 1 is the vital point of the 1 lets White tuke. the vital

§-point nakade shape, White dies. point of 2, giving him two eyes,

PROBLEM 270
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Conect Answer Wrong Answer

Black | and 3 leave White with If Black gives atarl with I,

a dead 3-point nakade shape. If White easily lives alter he captures
White 2 at 3, Black 3 at 2, with 2,

PROBLEM 271
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Correct Answer Wrong Answer
Black | is the vital point. After If Black plays at 1, While gets
exchanging 2 for 3, White is left two eyes and life by giving atari
with a false eye to the left of 2. with 2, ‘
PROBLEM 272
& T '

1 i
Correct Answer

I Black sacrifices with 1 and 3,
all the white stones will die.

Wrong Answer
The order is important, If Black
{ first, Whjte gets two eyes with 2.
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Correct Answer , Wrong Answer
Black ! is the vital point. Black If Black 1, White 2 captures
will eventually be reduced to a two stones, getting two eyes and
dead 3-point nakade shape. life.
PROBLEM 274
&0
T es

e
“Correct Answer Wrong Answer

White sucrifices a stones with Without the sacrifice, White |

{ and then destroys Black’s eye fails, Black 2 gives Black iwo
an the right with 3. real eyes.

PROBLEM 275

L
il it
Correct Answer Continuation
White adds a stone to the one White sacrifices another stone
aiready in atari, After Black 2 - with 3, giving Black a false eye.
PROBLEM 276

T DO L 0 W I A I I [ I Y S DO B

rd
D@ %
18,08
€28 1831
Wrong Answer
Without the sacrifice, White |

Correct Answer
White sacrifices a stone with 1,
followed by Black 3. If Black iets Black get two eyes with 2.
2 at 3, White 3 at 2, capturng
four stones.
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PROBLLEM 27/

] I
Correct Answer Wrong Answer

Black sacrifices two stones with Black | iets White capture
. After White 2, Black retakes with 2, jeaving him with two

i the point 1 with 3. White is perfect eyes,
|t with only one eye,

PROBLEM 278

Correct Answer
Black aulds a stone to the one
Iready in atan, When White takes
rith 2, Black sacrifices again by
hrowing in at i with 3, ieaving
/liite with a false eye,

Wrong Answer
If Black piays at I, White gets
two perfect eyes when he cap-
tures at 2, '

PROBLEM 279
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Correct Answer

Wrong Answer
Black 1 is the correct answer. If Black plays at 1, 2 gives

Vhite can’t play at 3 because of.  White two perfect eyes and
shortage of ‘liberties. When  life.

Yhite takes with 2, Black 3leaves . ~

Yhite with only one reai eye.
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Correct Answer
Black 1 is the vital point of life
and death. If White 2, after 3,
White eventually will be reduced
to a dead 3-point nakade shape,

Correct Answer
Black | and 3 are the correct
moves, White i1s now reduced to
a dead 3-poimt nakade shape.

PROBLEM 281

Wrong Answer

Black ! 1s bad because it pro-
vokes White to play 2. White
now has two eyes and can’t be
killed,

T
Wrong Answer
Black | heips White make two
eves. The only way to kill White
1s to sacrifice three stones.

PROBLEM 282

Correct Answer
Black 1 gives White a dead 4-
point nakade shape. After 2, —

Continuation
Black plays 3 in the middle of
the nakade shape and White will
eventually be reduced to one eye.

PROBLEM 283
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Correct Answer
Black I or A will kill White. If
White 2, Black 3 destroys the
second eye on the edge.

O
P aBe

Wrong Answer
Black | or A fails. After 2,
White can make another eye on
the right.
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Correct Answer Wrong Answer
Black 1 catches the two white Giving atari with Black i isans-
stones to the ieft. White is dead, wered by 2, Whilte gets two eyes.
PROBLEM 285
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Correct Answer Wrong Answer
Black | and 3 prevent White Black | is an overplay. Aftera
from getting a second eye at the series of ataris 10 6, White secures
bottom, so he 1s dead. life for his group. ‘
PROBLEM 286
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Correct Answer Wrong Answer
White 1 and 3 create a dead Giving atari with 1 {ails. After
bent-four-in-the-corner shape. White 2, Black has no follow-up.

PROBLEM 287
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Correct Answer Wrong Answer
If White i, all Black’s eyes ex- If White gives atart with I,
cept the one on the edge are false. Black 2 results in three eyes!
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Correct Answer Wrong Answer

White | and 3 give Black a dead If White 1, Black 2 and 4 result

5-point nakade shape, in a ko, White has failed.

PROBLEM 289

s

$69- B

ST

Correct Answer Wrong Answer
I 18 a superb move, Because of If Black captures with I, White
a shortage of liberties, White can’t gets his second eye in the corner
make an ¢ye in the comer. by playing at 2.
" PROBLEM 290
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Correct Answer Wrong Answer !
Black 1 is the vital point. If Black 1 lets White get two

2, Black 3 finishes off White. eyes in the corner with 2,

PROBLEM 291

@

. [ @ 2 @:_
Correct Answer " Wrong Answer
Black 1 is a superb move, After If Black 1, White 2 catches the
3, White can’t give atari to the lone black stone, so -White is
black stones, so he dies. absolutely alive.
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PROBLEM 292

Correct Answer
Black [ arid 3 kill White. If he
now attacks the black stones,
he puts himself into atan,

2

@
PSS

i
‘ 1
Wrong Answer

Black | is answered by White
2. No matter how Black piays
next, White will get two eyes,.

PROBLEM 293

Correct Answer
Black gives atan with 1 and
then -defends with 3. White has
onty one eye,

T lekess
el

Correct Answer
Rlack 1 kills all the white
stones, There is no way White
can get out of atart,

il
Wrong Answer
Defending at 1 lets White play
2, giving him two eyes and life.

PROBLEM 294
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Wrong Answer

If Black connects at 1, 2 gives
White two eyes and life,

L)

PROBLEM 295
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Correct Answer
Black 1 s the vital pont for
eye shape. After Black 3, White
has only one eye,

Wrong Answer
- Playing 1 first is the wrong
order of moves, White makes two
perfect eyes with 2.
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Correct Answer CWr ‘
If Black i and 3, White doesn’t Black i 1s n the wrong direc-

have room in the corner for two tion. White can’t be killed after
eyes. If White A, Black B. 2.

PROBLEM 297
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Wrong Answer
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Correct Answer
Black | is the vital point. After
Black 5, White can’t gettwoeyes,

Wrong Answer
Black i and 3 are slack, White
gets two eyes with 2 and 4,

PROBLEM 298
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Con ect Answer
White | is the vital point, If 2,
White 3 leaves Black with one eye.

Wroné Answer '
If White plays i, Black will get
his second eye to the right of 2,

PROBLEM 299
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Wrong Answer

If White 1, Black 2 catches this
stone, giving Black another eye.
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Correct Answer
White 1 makes the black eye
at the top a faise one. Black dies.
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PROBLEM 300
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Correct Answer Wrong Answer

White | is the vital point. Black If White takes at i, Black easily”
cannot make two eyes no matter gets two eyes and lms by play-
how he plays, Ing at 2,

PROBLEM 301
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Correct Answer

ec Wrong Answer
Blackrsacrznces a stone at |, If Black I, it becomes a ko
This point will become a false after White 2, so Black has
eye for White, so he is dead, failed, '
PROBLEM 302
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Correct Answer

e _ Wrong Answer
Black sacrifices a stone with |. If Black neglects to sacrifice

If White 2: Black gives atari with and simply gives atari with 1,
3 and White is reduced to oniy Black connects at 2 and gets
one eye, two perfect eyes,
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Correct Answer

First of all Black sacrifices two

stones with 1 and 3, then, when

White takes with 4, throws in

a stone at the point | with §,
Black is reduced to one eye.

PROBLEM 303

Wrong Answer
If Black plays I, White easily
lives by playing at 2,

11
PROBLEM 304

S T I §
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Correct Answer
Black 1 creates a seki. |f White
sacrifices four stones, Black will
live with two eyes,

|
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Wrong Answer

In response fo Black 1, White
gives atari with 2, Now after
Black takes with 3, he is left
with a dead 4-point nakade
shape. '

mEE

i

3

PROBLEM 305

&'orrect Answer

Black 1 threatens to get two

eyes, s0 White must connect at

2. Next Black plays 3 and the
result is a seki.
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Wrong Answer

If Black plays 1 first, White
plays 2. Now after the exchange
of 3 for 4, Black will.be left with
a dead 4-point nakade shape.

s
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PROBLEM 306
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Correct Answer

Black 1 and 3 create a seki. If

hite 2 at 3, Black plays 3 at 2
d lives without seki.

Correct Answer
White-1 creates a seki with the
iree black stones in the corner,

N

Correct Answer
A_sel-u results if White piays 1.

atther side can attack the other.

_ Correct Answer
.White [ and 3 create a seki be-

ween the nine biack and six
viite stones.

R
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Wrong Answer

If Black 1, White plays at 2
and the black stones are dead.

PROBLEM 307
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Wrong Answer
If White takes two stones with
1 and 3, Bldck retakes with 4 to
the left of 3. White has a dead
bent-four-in-the-corner shape,

oanm | |
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PROBILEM 308
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Wrong Answer

If White 1, Black plays 2 and
the white stones will be captured.

PROBLEM 309
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Wrong Answer
Giving atarnt with White | re-
sults in the capture of five white
stones when Black plays 2.
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Correct Answer

After Black I, White has_no
choice but to fight a ko with 2
if he is to kill Black.

Wrong Answer
Biack i lets White save his cor-
ner stones, so all of Black’s

stones will die.

PROBLEM 311

Correct Answer
Black 1 is the vitali point for
starting a ko. White 2 is forced
and the ko begins with Black 3.

N T I aRE
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“Wrong Answer

Giving atari with 1 15 answered

by White 2. White now lives
unconditionally.

PROBLEM 312

Correct Answer
Biack starts a ko with the
sequence to White 4.

il

Wrong Answer

If Black plays i, White gets

two perfect eyes by playing at 2.

PROBLEM 313

T T ™
Correct Answer _
Black i and 3 start a ko forthe
life of death of White’s group.

Wrong Answer

1f Black 1, White gets two per-

fect eyes when he plays at 2.
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Correct Answer

Wrong Answer
Black makes two sacrifices with If Black plays i first, White
i and 3. The order of moves is connects at 2. Black has no
important. The ko begins when follow-up move, so all his stones
White takes with 4. die,
PROBLEM 315
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Correct Answer Wrong Answer
If Black sacrifices a stone at 1, Without the sacrifice, there is
after White takes with 2, he can no ko. After Black I, White con-
get a ko by capturing at 3, nects at 2 and gets two perfect
eyes,

PROBLEM 316

Correct Answer
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Correct Answer Wrong Answer
By playing at I, Black increases Giving atari with Black 1
his own liberties by one and re- results in the. loss of Black’s
duces White’s by one, If White 2, -two  stones at the top, so
Black gives atari with 3 and wins Black has failed.
the captunng race by one move, _
PROBLEM 318
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Correct Answer Wrong Answér
Black can win the capturing Black ljust_throws away two
race by one move if he connects stones. In addition, the four black
“at | and then gives atari with 3. stones in the corner are lost,
PROBLEM 319
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Correct Answer Wrong Answer

If White makes an eye with 1, White I is not the way to make

Black 1 isasuperb move. White
cannot make a move to defend
himself because of & shortage of
liberties,

Wrong Answer
Black just puts himself into

atant when he plays at 1. so White

captures seven stones with 2,

242 -

there is no way that Black can
win the capturing race. After
White 3, Black can’t make a
move without putting himself
into atari,

an eye, Black 2 puts seven white
stones into atari, so Black’ s S1X
stones are safe.
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Correct A nswer
If White makes an eye with 1,

the six black stones above will die,

Wrong Answer
If White piays 1 from above,
the situation will become a seki,

PROBLEM 321
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Correct Answer
Even though Black has an eye,
White wins the capturnng race by
playing I and 3,

Wrong Answer
White i here fails. Black wins
the capturing race by one move,

PROBLEM 322
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Correct Answer
Black sacrifices a stone with 1
and then gives atant with 3. If
White 2 at 3 Black 3 at 2.

Wrong Answer
If Black plays 1 first, after
White 2 and 4, Black can't get
out of atari.

PROBLEM 323
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Correct Answer

Wrong Answer

Black | forces White to play 2. If Black 1, Black’s three stones

After 3, Black catches five stones.
— 244 _

below will be captured by White.
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Correct Answer
Black 1 15 the move that kills

the six white stones. If White 2,
Black gives atan with 3.
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Wrong Answer’
Giving atar1 to one white stone
fails. White plays 2 and catches
two black stones.

PROBLEM 325
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Correct Answer Wrong Answer

Playmg 1 and 3 in any order
catchqs the five black stqnes.

If White I, Black 2 sets up a
snapback for the three white
stones.

PROBLEM 326

Conect Answer

If White sacrifices a stonewith |

and then gives atari with 3, he wins
the capturing race by one move.

- @j;
8RO~

11
Wrong Answer

Without the sacrifice, it is Black
wiio wins the capturing race.

PROBLEM 327
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“ Correct Ahswer
Black sacrifices a stone with i
and then gives atart with 3. In this
way he will capture eight stones.

]
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H’rong Answer
H White immediateiy gives
atari with [, he loses the capturing

race by one move.
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APPENDIX: NAKADE AND BENT FOUR IN THE CORNER

Nakade

It often happens that after you take the trouble to capture some stones, thinking
that you've made eye shape, your opponent plays back inside this area and your
group 1s reduced 1o one eye. This situation 15 known as ‘nakade’, In the following,
we will explain the basics of life and death of the various nakade positions,

Dia, 1. These are the two basic shapes of the 3-point nakade. In both positions,
A is the vital point. If Black can play at A first, White will die, However, White gets
two perfect eyes and life if he can play at A,

Dia. 2, There are three basic 4-point nakade shapes which can be killed, In the
position at the bottom, A 1s the vital point, The life or death of the white group
will be decided by whichever side gets to play this point,

In the position at the upper ieft, White is dead as he stands, If White plays inside
his own nakade, he reduces himself to a dead 3-point nakade shape.

The 4-point nakade in the upper nght corner is a special case. If White does not
have more than one liberty on the outside, Black can start a ko for the life of the

white group. Otherwise, White is unconditionally alive. (See Problem'15 on page 6) A

OCTA @ QO TOO2
SO |

el

B G- @O0
@%Cg)-@OOOQ' %Og
@ | & &)

LT

COY
SO0®

%QAO%
SOTCOw QWY
w%%@% @GO

@

g@ N Q@

Dig, 1 Dia, 2 O@

Dia. 3. The two S-point nakade shapes shown here are the only ones that can be

killed. If Black A, White dies, If While gets to play at A first, he lives, All other
5-point nakade shapes are, in principle, alive,

Dia. 4. The largest nakade that can be killed is a 6-pount nakade. The 6-point

nakade shown at the top of this diagram 1s known as ‘flower six’. If Black plays at
A, White will be reduced to one eye,

The rectangular 6-point nakade in the corner can be killed only if all the liberties
on the outside are filled,
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Dia. 5. 7-pomnt nakade shapes, m
general, cannot be killed: There are two
shapes, however, in which it is possible
to create a seki. These positions are
shown n this diagram, In both cases,
White is alive, but he gets no points ‘
because the results are seki, Dia 5

In summary, it 15 possible to kill stones making up 3-point nakade shapes to
6-point nakade shapes, 3-point nakades are the simplest to underst‘and; the other
shapes often present problems as to whether or not they are- aiwg. Therefare,
it is important that you familiarize yourself with these shapes, so that you can
instantaneously determine the life-and-death status of these stones when con-
fronted with them in a game.

-

Bent Four in the Comner -

The Japanese rules of go are, for the most part, very easy to understand; but
there is one rule in which confusion often anses. This is the shape known as *bent
four 1 the comner’. :
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Dia. 1. In the position in the upper night corner, White has the pent-four-in-the-
corner shape. According to the ruies, White’s stones are unconditionally dead and
they can be taken off the board without further piay at the end of tie game,

Furﬁhermore, it doesn’t matter how many liberties; White may have, for instance,
as1n the position at the botiom left of the board. It is unnecessary for Black to fill

“them in: he may take the white stones off the board at the end of the game as
they stand.

Dig. 2, This i1s another example of a bent four in the corner. White is dead in the
position 1n the upper nght.

However, the position 1n the tower ieft is a special case. Since the nine black
stones 1n the middle do not have two eyes, it is captliring race, so the life or death
of the black and white groups on the inside must be decided by a ko.

SOOT

SOK
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+

Dia, 3. This diagram shows how thé
ko anses in the bent-fourin-the-corner
shape. In the upper rigiit, Black gives @

DOCDDD

atann with 1 and White takes four siones
with 2. Continuing in the lower left, eeo ' .
Black 3 and § resuit in a ko Since Black G ()R —
can stust this ko anytime up to the very o
end of the giite when there are no [P
fonger any ko threats, the ruies allows OO%
you o take the white stones off the @@Q%

beard without playing out this ko.

Dia. 3

The following is a list of national go associations throughout tl_xe world,
If you have trouble {ocating other go players i your community, your

GO ASSOCIATIONS

jocal go organization may be able to help you.

ARGENTINA
Argentina Go Association
c/o Mr. Guillermo E. Zucat
Aroz 2730 -6o,
1425 Capital Federal
Tel, 71-3182

AUSTRALIA
Australian Go Association,
cfo Bill Leveritt,
“Penmora™,
20 Cowlishaw Street,
Bowen Hills, QLD, 4006 J
AUSTRIA ;
Osterreichischier Go-Verband,
cfo Dr, Alfted Kriegicr,
1030 Wien,
Rechte Bahnpasse 2872,
Tel, 7238335

BRAZIL
Brazil Ki-in
c/o Mr. Toshikatsu Takamori,
Rua Marta Figueiredo,
350 Sao Paulo,
Tel. 2894062

CANADA
Canadian Go Association,
¢fo Mr. Tibor Bognar,
8982 St. Hubert,
Montreai, Quebec H2ZM 1Y6
Tel, 387-1646

CHINA
China Weiqi Association,
Ttyu-gusn Lu 9,
Peking, Tel. 753110

CZECHOSLOVAKIA
Czechosiovak Go Association,
cfo Dr, Dusan Frokop,
Laubova 8,

130-00 Praha 3, C3SR
Tel. 276565

DENMARK
Denmark Go Association,
¢fo Mr, Frank Hansen,
Nordre Frihavnsgaae 24,
2100 Copenhagen,
Tel. 01-269460

FINLAND
Finiand Go Association,
cfo Mr, Keijo Alho,
Kuusitic 8 A 14,
00270 Helsinki 27,
Tel. 90-483401

FRANCE
Federation Francaise de Go,
B.P. 9506,
75262 Pans Cedex 06

F. R, GERMANY
Deutsciier Go Bund,
¢fo Mr, Martin Stiassny,
Am Burgturm 2,
D-4048 Grevenbroich I,
Tel. 0218142021

HONG KONG
liong Xong Go Club,
458 Nathan Road,
8th Floor, B ¥lai,
Kowioon,
Tel, 3-857728

HUNGARY
Ilungary Go Association,
c/o Mr. Gacs Istvan,
F-1085 Budapest,
Salctirom 6

ITALY
Italian Go Association,
¢fo Raffacie Rinaldi,
Via T.a Marinora 18,
Milanno,
Tel, 02-581523
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